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R, = 4.850, R, = 9.700, ZBTJE t, = 0.300, h,- 1.900
ARt = 0.000, PREE t, = 0.100

RELSHEL Y L; = 3.730000
re = Rz + to+ t, + to
= 9.700 + 0.300 + 0.000 + 0.100 = 10. 100
L, =4/ r~ h?® - Ly=1/10.100° - 1.900> - 3.730000 = 6.189677
CoSint R gyt 900 = 10 8430205
@ = eI T 2 0100 -

Vb-1 =7 X r*X a/ /360" -1/2 X ( Ly + L,) X h,
7 X 10.100* X 10.8430205 / 360°

- 1/2 X ( 3.730000 + 6.189677 ) X 1.900 = 0.228820
LisX h;= 6.189677 X 1.900 = 11.760386
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Vb = ( Vb-1 + Vb-2 ) X 2
(0.228820 + 11.760386 ) X 2 = 23.978412
= 23.978 m®/ m
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Rs = 6.570, R, = 4.850, ZBTJE t, = 0.300
ARt = 0.000, PREE t, = 0.100
2t = 0.200
as = 40, 6293288 , a4 = 49. 3706712
REICTVEL D L., = 1.120000, hs; = 1.305374
r5:R5+t0+t1+t2+t
= 6.570 + 0.300 + 0.000 + 0.100 + 0.200 = 7.170
ry =R,/ + tog+t t;, + ts,+ t
= 4.850 + 0.300 + 0.000 + 0.100 + 0.200 = 5.450

Vsa-1 = (7 X 15 X @3/ 360° —1/2 X Ly Xhy) X 2
= (x X 7.170° X 40.6293288 / 360°
- 1/2 X 1.120000 X 1.305374 ) X 2 = 34.992832

Vsa—2 = X 12 X a,/ 3600 X 2

T
= g X 5.450*° X 49.3706712 / 360° X 2 = 25.594073
Vsa = Vsa-1 + Vsa-2 = 34.992832 + 25.594073 = 60. 586905

60.587 m®/ m
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R, = 4.850, R, = 9.700, BTJE t, = 0.300
ARt = 0.000, PREE t, = 0.100
488t = 0.200, h, = 1.900
REOLSIEL Y L; = 3.730000
To R2+t0+t1+t2+t
= 9.700 + 0.300 + 0.000 + 0.100 + 0.200 = 10. 300
L, = ro - h? - L3=\/ 10.300% — 1.900° - 3.730000 = 6.393241
L I e 1 = 106300018
(e = in I, = in 10. 300 = .

= 7 X 10.300* X 10.6300018 / 360°
- 1/2 X ( 3.730000 + 6.393241 ) X 1.900 = 0.224282

Vsb-2 = L, X h; = 6.393241 X 1.900 = 12. 147158

Vsb = ( Vsb-1 + Vsb-2 ) X 2
= ( 0.224282 + 12.147158 ) X 2 = 24.742880
24.743 m®/m
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a. _EERWTE

.850, & LJE t, = 0.300

T4t t, = 0.000,
s = 406293288 , .

rs = Rs+ to+ t,
ri = R;+ to+ t,
Fal=2n X r5 X a«aj
=21 X 6.870 X
Fa2 =2n X r{ X «aq
=2n X 5.150 X

Fa = Fal + Fa2 = 9.

AR t, = 0.100
= 493706712

6.570 + 0.300 + 0.000
= 4.850 + 0.300 + 0.000

/ 3607 X 2
40. 6293288 / 360" X 2
/ 360° X 2
49:3706712 / 360° X 2

743248 + 8.875312

6. 870
5. 150

9. 743248

8.875312

18. 618560
18.619 m?/ m




b. TFHECH-Wrif

----------------------------------------------------------------------------------------------------------------------------------

R, = 4.850, R, = 9.700, ZBTJE t, = 0.300, h; = 1.900
ARt = 0.000, PREE t, = 0.100

ry, = Ry+ to+ t,= 9.700 + 0.300 + 0.000 = 10. 000
- osint Bl - gy 2200 = 10 9527842
@ = eI T S 0,000 -

Fb =2n X ry X a / 360° X 2
=27 X 10.000 X 10.9527842 / 360° X 2 = 3.823243

= 3.823 m*m
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a. fBl.a 7 VU—Fh

- RS T 2
< s\ ° R2
L,
Ls
Rs = 6.570, R, = 4.850, R; = 9.700
BIJE ty=0.300, h, = 1.900
as = 40.6293288 , a4 = 49.3706712
rs = Rs+ to= 6.570 + 0.300 = 6.870

ri = R;+ to= 4.850 + 0.300 = b5.150

ro = Re+ to= 9.700 + 0.300 = 10. 000
L, =4 RS- h? =4/ 9.700° - 1.900° = 9.512098
Ly =+ r2 - h?® =4/ 10.000* - 1.900* = 9.817841
- Sint 2L - sipt =0 = 11. 2959185
o in Rz in 9. 700 .
Ty e L LIV = 10: 9527842
@ o, 710, 000 '

__________________________________________________________________________________________________________________________________
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(O] :7TX<I52_R52>XO£3/3600><2

= 7 X( 6.870° = 6.570° ) X 40.6293288 / 360" X 2 = 2.859154
vy = aX(rf-R#) X a4/ 360 X 2

= 7 X( 5.150° — 4.850° ) X 49.3706712 / 360° X 2 = 2.585042
Vi = v+ ve = 2.859154 + 2.585042 = 5.444196

(ilal

L = X r22>< Oél’ /3600

= 7 X 10.000* X 10.9527842 / 360° = 9.558107
vy =1/2 Xh; XLs=1/2 X 1.900 X 9.817841 = 9.326949
V3 =1 X R22>< 041/3600

= 7 X 9.700° X 11.2959185 / 360° = 9.274967
vy =1/2 Xh, XLy=1/2 X 1.900 X 9.512098 = 9.036493
Vo =v1+ vy (vg+ vy)

= 0.558107 + 9.326949 - ( 9.274967 + 9.036493 ) = 0.573596
Vg =V, + Vy, X 2= 5444196 + 0.573596 X 2 = 6.591388

= 6.591 m®’/ m
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a. fBl.a 7 VU—Fh

S. L _
4
L,
R: = 6.570, R, = 4.850, R, = 9.700
BEITJE t,=0.300, h, = 1.900
4% t=0.130
ar = 11.2959185 , a5 = 40.6293288 , a4 = 49. 3706712
rs = Rs+ to+ t = 6.570 + 0.300 + 0.130 = 7.000

ri =R, + to+ t = 4.850 + 0.300 + 0.130 = 5.280

ro = Ry+ to+ t = 9.700 + 0.300 + 0. 130 = 10. 130
L, =+ r4 - h? =4/ 10.130° - 1.900° = 9.950221
- Sin! - g = 10. 8105218

T T 2 0,130 -

__________________________________________________________________________________________________________________________________
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U s1 ZTCX(I'E,Z_RE,Z)XO&:;/S6OOX2

= 7 X( 7.000° - 6.570° ) X 40.6293288 / 360° X 2

v = o X(r?-R?) X a,/ 360 X 2

= 7 X ( 5.280° - 4.850° ) X 49.3706712 / 360° X 2

Vs = v t v = 4.137760 + 3. 753395

U s1 =1 X 1'22 X Oél’ /360o
= 1 X 10.130* X 10.8105218 / 360°

Vs = 1/2 Xh; X L; =1/2 X 1.900 X 9.950221
Vsy = axXatWrf, L7 U— MAUBEE v, ~ v,

Vs = Vst ¥ Usg = U3
= 9.680837 + 9.452710 — 18.311460

Vcs1 = Vs1 + Vsz X 2 = 17.891155 + 0.822087 X 2

Dadt

= 4.137760

= 3.753395

7.891155

= 9.680837
9. 452710
18. 311460

= 0.822087

9. 535329
= 9.535 m®/m
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4
6.570, R, = 4.850, R, = 9.700
BT to = 0.300, h, = 1.900, BIFFERIEE ¢, = 0.200
112959185 , a3 = 40.6293288 , «. = 493706712
=Rs +(t,/2)= 6.570+ (0.200/2) = 6.670
=R, +(t;/2)= 4.80+ (0.200/ 2) = 4.950
=R, +(t,/2)= 9.700+ (0.200 / 2) = 9.800

i

@1 =

VCl

— Sil'f] hl — Sil'f] ﬂ
o 9. 800

= REHTE OB a2 7 U — R LY

Vet = X¥WrmoE TLar 27V —RED

= 11. 1791607

= 6.591388
= 9.536329

14




<AEHE>
Wi = (272 X Rs X a3/ 360° +2x X R, X a4/ 360°
+27 X Ry X /360" ) X 2
(27 X 6.570 X 40.6293288 / 360°
+ 271 X 4.850 X 49.3706712 / 360°
+ 27 X 9.700 X 11.2959185 / 360° ) X 2 = 21.500811
= 21.501 m*/m

FMW=Va - (27 X r5 X a3 /360 +27x X r, X a4/ 360°

(F%EH) +27x X 1y X a) /3607 ) X t; X 2

6.591388 — (27 X 6.670 X 40.6293288 / 360°

+ 271 X 4.950 X 49:3706712 / 360°

+ 271 X 9.800 X 11.1791607 / 360° ) X 0.200 X 2 = 2.228496

= 2.228 m*/ 4T

FER = Vet - (27 X 15 X a3/ 360" +2x X v X a4/ 360
(3ZHL) +2m X 1y X a) /3607 ) X t; X 2
= 9.535329 - (2x X 6.670 X 40.6293288 / 360°
+ 271 X 4.950 X 49:3706712 / 360°
+ 27 X 9.800 X 11.1791607 / 360" ) X 0.200 X 2 = 5.172437

= 5.172 m®/ » fii
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pa R (m®/m) 27—k (m?/m)
x %A ; X A

O | 5w 60.979

@ |E¥F%RfF=27U—1

@ | FEB-Wrim 24. 819

® [T 13.914

© | —hrarzl—Fk 6.316

@ |BL=ar27U—Fk 8. 822

& g 99. 712 15. 138

1900
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Rs = 6.570, R, = 4.850, R, = 9.700, Rj; =18.40000, R, = 1.000

r. = 1.773806

BILJE to=0.300, to=0.450, RfHE t, = 0.150

o, = T.7767472 , o, = 16.3219030 , «s = 40.6293288 , «, = 49.3706712
h, = 1.900, x4 t= 0.170

ro =Ry+ to= 9.700 + 0.300 = 10. 000

rs = Rs+ to = 18.40000 + 0.450 = 18. 85000
L, =Rs- R, = 6.570 - 4.850 = 1.720

L. =1L, X Sin a3 = 1.720 X Sin 40.6293288 = 1.120000

.
I

(Ry-R;y) - L,=1( 9.700 - 4.850 ) - 1.120000 3. 730000




Ax = (Ry- Rs) X Cos a; — L;
= ( 9.700 - 1.000 ) X Cos T7.7767472 - 3.730000 = 4. 889985
Ay = (R, - R;y) X Sin a;
= ( 9.700 - 1.000 ) X Sin 7.7767472 = 1.177227
Bx = r, ®OXEEE = 4.798984
By = r4 OYJEEE = 0.866471
YR3 = R3; DY R = 15. 521517
Cx = R; X Sin a» = 18.40000 X Sin 16. 3219030 = 5.171018
Cy = R; X Cos a» - YR3 = 18.40000 X Cos 16.3219030 - 15.521517
= 2.136925
Dx = r3 X Sin a» = 18.85000 X Sin 16.3219030 = 5.297483
Dy = r; X Cos as — YR3 = 18.85000 X Cos 163219030 - 15.521517
= 2.568789
Ex = r. - h? - L; :\/ 10.000° = 1.900*> - 3.730000 = 6.087841
Ey = h, = 1.900
C’ X = (h1 + YRS)X Tan 2
= ( 1.900 + 15.521517 ) X Tan 16.3219030 = 5.101638
C’y= h; = 1.900
h, = h, - Ay = 1.900 - 1.177227 = 0.722773
h, = h; - By = 1.900 - 0.866471 = 1.033529
Fx = Bx + r % - hs = 4.798984 + \/ 1.773806° — 1. 033529°
= 6.240582
0 = Tt Ex - Ax T 6.087841 — 4.889985
poooan h, @z = Lan 0. 722773
- 16.3219030 = 42.5717826
0, =90 - (ay + az + 0,)
=90° - ( 7.7767472 + 16.3219030 + 42.5717826 ) = 2303295672
; = Cos he _ = o 1033529 16. 3219030 = 38.0401188
BT N0S ) @2 = 08 T 773806 : - %
h3:(R5_R1>><COSOL3
= ( 6.570 - 4.850 ) X Cos 406293288 = 1.305374
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6.570, R, = 4.850, ILJZ t, = 0.300
KAt t1 = 0.000, WAFE t, = 0.150
as = 40.6293288 , «, = 49.3706712

REIOCTIELD L., = 1.120000, hs; = 1.305374
Irs :R5+ to+ t1 + to
= 6.570 + 0.300 + 0.000 + 0.150 = 7.020
I :R1+ to + 1+ to
= 4.850 + 0.300 + 0.000 + 0.150 = 5.300

Va-1= (n X 1 X a3/360° —1/2 X L, Xhsy) X 2
= ( © X 7.020® X 40.6293288 / 360°
- 1/2 X 1.120000 X 1.305374 ) X 2 = 33.483480

Va2 = X 1,2 X a,/ 3600 X 2

T
= g X 5.300° X 49.3706712 / 360° X 2 = 24.204613
Va = Va1l + Va2 = 33.483480 + 24.204613 = 57.688093

= 57.688 m’/m
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R, = 4.850, R, = 9.700, ZBTJE t, = 0.300, h,- 1.900
ARt = 0.000, REE t, = 0.150
RELSHEL Y L; = 3.730000
r2:R2+t0+t1+t2
= 9.700 + 0.300 + 0.000 + 0.150 = 10. 150
L, = rs>~ h? - L3=\/ 10. 150> = 1.900> - 3.730000 = 6.240582
- oSint B gyt 900 = 10 7889646
@ = eI T S 0150 -
Vb-1=7n X 12X « /360 -1/2 X ( Ls+ L,) X h,
= 7 X 10.150% X 10.7889646 / 360°
- 1/2 X ( 3.730000 + 6.240582 ) X 1.900 = 0.227668
Vb-2 = L,X h; = 6.240582 X 1.900 = 11.857106
Vb = ( Vb-1 + Vb-2 ) X 2
= (  0.227668 + 11.857106 ) X 2 = 24.169548

= 24.170 m’/m
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R; = 18.40000, r = 1.773806, F& TJ& t, = 0.450, h; = 1.900
a: = 16.3219030

FEOLTVELD YR3 = 15.521517, D x 5.297483, Dy = 2.568789
C’ x 5.101638, F x = 6.240582
h, = 1.033529, 05 = 38.0401188
rs = Rs + to = 18.40000 + 0.450 = 18. 85000
hs =Dy - h, = 2.568789 — 1.900 = 0.668789
L, = Fx - C’ x= 6.240582 - 5.101638 = 1.138944

__________________________________________________________________________________________________________________________________

= (m X 1.773806* X 38.0401188 / 360°

- 1/2 X 1.138944 X 1.033529 ) X 2 = 0.911835
Ve2= 1/2 X (C'x +Dx ) X h; X 2
= 1/2 X ( 5.101638 + 5.297483 ) X 0.668789 X 2 = 6.954818
Ve3=1{ 7 X rs# X ay; /360 -1/2 XDxX ( YR3+ Dy) } X 2

= { = X 18.85000* X 16.3219030 / 360°
- 1/2 X 5.297483 X ( 15.521517 + 2.568789 ) } X 2

5. 387969

Ve = Vel + Ve2 + Ve-3
= 0.911835 + 6.954818 + 5.387969 = 13. 254622
13.255 m®/ m
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Rs = 6.570, R, = 4.850, B TJE t, = 0.300
B E t, = 0.000, REE t, = 0.150
Mt = 0.170
as = 40, 6293288 , a4 = 49. 3706712
REICTVEL D L., = 1.120000, hs; = 1.305374
r5:R5+t0+t1+t2+t
= 6.570 + 0.300 + 0.000 + 0.150 + 0.170 = 7.190
ry =R,/ + tog+t t;, + ts,+ t
= 4.850 + 0.300 + 0.000 + 0.150 + 0.170 = 5.470

Vsa-1 = (7 X 15 X @3/ 360° —1/2 X Ly Xhy) X 2
= (x X 7.190° X 40.6293288 / 360°
- 1/2 X 1.120000 X 1.305374 ) X 2 = 35.196490

Vsa—2 = X 12 X a,/ 3600 X 2

T
= g X 5.470*° X 49.3706712 / 360° X 2 = 2b.782264
Vsa = Vsa-1 + Vsa-2 = 35.196490 + 25. 782264 = 60.978754

60.979 m®/ m




b. TFHECH-Wrif

P
7/
/7
//
//
// @
/1 ‘
)
I
| _ S. L _
II|
ll\ Ro
- 1 -
< T o re
N\ ~
N, T~
\\\ ——
L
L,
R, = 4.850, R, = 9.700, BTJE t, = 0.300
ARt = 0.000, REE t, = 0.150
APt = 0.170, h, = 1.900
REOLSIEL Y L; = 3.730000
To R2+t0+t1+t2+t
= 9.700 + 0.300 + 0.000 + 0.150 + 0.170 = 10. 320
L, = r - h? - L,= \/ 10. 320 - 1.900° - 3.730000 = 6.413589
- osint Bl - gyt — 900 = 10. 6091620
(e = in I, = in 10. 320 = .

= 7 X 10.320* X 10.6091620 / 360°
- 1/2 X ( 3.730000 + 6.413589 ) X 1.900 = 0.223839

Vsb-2 = L, X h, = 6.413589 X 1.900 = 12.185819

Vsb = ( Vsb-1 + Vsb-2 ) X 2
= ( 0.223839 + 12.185819 ) X 2 = 24.819316
24.819 m® /' m
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R; = 18.40000, r = 1.773806, FETJ& t, = 0.450, &4 t = 0.050
h, = 1.900, «, = 16.3219030

FEOLTVELD YR3 = 15.521517, Bx = 4.798984, C’ x = 5.101638
h, = 1.033529
rs = Rs+ to+ t= 18.40000 + 0.450 + 0. 050 = 18.90000
wri=r,/+ t= 1.773806 + 0.050 = 1.823806
0y = Cos™ L - ay = Cos’ _1.034529 16. 3219030 = 39. 1585047
W Ty 1. 823806
D x= r3 X Sin as = 18.90000 X Sin 16.3219030 = 5.311535
D yv=1s X Cos as — YR3
= 18.90000 X Cos 16.3219030 - 15.521517 = 2.616774

F'x=Bx +wr, X Sin ( 05 + )

= 4.798984 + 1.823806 X Sin( 39.1585047 + 16.3219030 )= 6.301677
hs =D’y - h, = 2.616774 — 1.900 = 0.716774
L, = F x - C x= 6.301677 - 5.101638 = 1.200039

= (& X 1.823806% X 39.1585047 / 360°
- 1/2 X 1.200039 X 1.033529 ) X 2
Vsc2=1/2 X (Cx + D’ x ) X h; X 2
=1/2 X ( 5.101638 + 5.311535 ) X 0.716774 X 2 = 7.463892
Vsc-3=1{ nXrsd X ay/30 -1/2 X DDx X (YR +D v )} X 2
= { z X 18.90000* X 16.3219030 / 360°

1. 033046

- 1/2 X 5.311535 X ( 15.521517 + 2.616774 ) } X 2 = 5.416584
Vsec = Vsc-1 + Vsec—2 + Vse-3
= 1.033046 + 7.463892 + b5.416584 = 13.913522

13.914 m®/ m
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a. _EERWTE

.850, & LJE t, = 0.300

T4t t, = 0.000,
s = 406293288 , .

rs = Rs+ to+ t,
ri = R;+ to+ t,
Fal=2n X r5 X a«aj
=21 X 6.870 X
Fa2 =2n X r{ X «aq
=2n X 5.150 X

Fa = Fal + Fa2 = 9.

AR t, = 0. 150
= 493706712

6.570 + 0.300 + 0.000
= 4.850 + 0.300 + 0.000

/ 3607 X 2
40. 6293288 / 360" X 2
/ 360° X 2
49:3706712 / 360° X 2

743248 + 8.875312

6. 870
5. 150

9. 743248

8.875312

18. 618560
18.619 m?/ m




b. TFHECH-Wrif

----------------------------------------------------------------------------------------------------------------------------------

R, = 4.850, R, = 9.700, ZBTJE t, = 0.300, h; = 1.900
ARt = 0.000, REE t, = 0.150

ry, = Ry+ to+ t,= 9.700 + 0.300 + 0.000 = 10. 000
- osint Bl - gy 2200 = 10 9527842
@ = eI T S 0,000 -

Fb =2n X ry X a / 360° X 2
=27 X 10.000 X 10.9527842 / 360° X 2 = 3.823243

= 3.823 m*m
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Rs = 6.570, R, = 4.850, R; = 9.700, R, = 1.000

1.900, EITJE t, = 0.300

o, = T.7767472 , o, = 16.3219030 , «s = 40.6293288 , «, = 49.3706712

FEOLTELD Ax = 4.889985, Ay = 1.177227, Ex = 6.087841
Ls; = 3.730000, h, = 0.722773, 0, = 23.3295672

on
|

rs = Rs+ to= 6.570 + 0.300 = 6.870

ri = Ry + to= 4.850 + 0.300 = 5,150

r« = Ro+ to= 9.700 + 0.300 = 10. 000

hs; = Ay = 1.177227
v w. g by o 1.900 .

a; = Sin . Sin 10,000 = 10. 9527842

0, = 02 = 23.3295672

L, = rs X Cos a;=10.000 X Cos 10.9527842 = 9.817841

__________________________________________________________________________________________________________________________________




v, = aX(rs - R&#) Xasz/ 360° X 2

= 7 X ( 6.870° - 6.570° ) X 40.6293288 / 360° X 2 = 2.8h9154
vy = X(r - R/#) Xas/ 360" X 2

= X ( 5.150* = 4.850% ) X 49.3706712 / 360" X 2 = 2.585042
Vi = v+ vy, = 2.859154 + 2.585042 = 5.444196
HEE
v, = 1w X 1t X a) / 360

= 1 X 10.000* X 10.9527842 / 360° = 9. 558107
vy =1/2 Xh; XL,

=1/2 X 1.900 X 9.817841 = 9.326949
vy =1 X R X a;/ 360°

= 1 X 9.700* X 7.7767472 / 360° = 6.385410
vy =1/2 X (Ax + L3 ) X hy

=1/2 X ( 4.889985 + 3.730000 ) X 1.177227 = 5.073840

vs =1/2 X {(Ax + L; )+(Ex +L; )} Xh,
= 1/2 X {( 4.889985+ 3.730000)+( 6.087841+ 3.730000)} X 0.722773

= 6.663181
Vs = T XR42 X 64/ 3600
= 1 X 1.000* X 23.3295672 / 360° = 0.203589
V, :U1+02_(U3+U4+U5+U6)

= 9.558107 + 9.326949
- ( 6.385410 + 5.073840 + 6.663181 + 0.203589 ) = 0.559036

Vo = Vi + Vy X 2= 5.444196 + 0.559036 X 2 = 6.562268
= 6.562 m°’/m




b, £ /"—=bar7—h

4

e — — ]

R; = 18.40000, R, = 1.000, r, = 1.773806, 7 T.J= t, = 0.450
as = 163219030

Ax = 4.889985, C’ x= 5.101638, Ex = 6.087841, F x = 6.240582

h, = 0.722773, h4 = 1.033529, 0, = 42.5717826 , 0, = 38.0401188

rs = Rs+ t, = 18.40000 + 0. 450 = 18. 85000
Gx =Ax+4 R - hs? = 4.889985+ \/ 1.000% — 0.722773> = 5.581071
L, = Fx - C x = 6.240582 - 5.101638 = 1.138944
L, =Gx - C’x = 5.581071 - 5.101638 = 0.479433
L; = Ex - Gx = 6.087841 — 5.581071 = 0.506770
0, = Cos™ he _ = C o 0. 722703 16. 3219030 = 27.3941954

4 = (O} R4 a9 — 0S 1000 . - .

v, =(xn X r/?2X 05/30 -1/2 X L, X hy) X 2

= (7 X 1.773806% X 38.0401188 / 360°
- 1/2 X 1.138944 X 1.033529 ) X 2 = 0.911835
v, =(zn X R X 0,/360° —1/2 X Ly X hy)X 2
= (& X 1.000*> X 27.3941954 / 360°
- 1/2 X 0.479433 X 0.722773 ) X 2 = 0.131598
vy ={1/2 X Ly X ho—- 7 X R X (6,- 6,) /360 } X 2
={ 1/2 X 0.506770 X 0.722773
- X 1.000° X ( 42.5717826 -27.3941954 ) / 360° } X2 = 0.101381
U4 :{7'C><(1”32*R32>><062/3600}><2
= {x X (18.85000% — 18.40000% ) X 16.3219030 / 360° } X2 = 4.775149
Ve = Vi — Vgt Lyt Ly
= 0.911835 - 0.131598 + 0.101381 + 4.775149

5. 656767
= 5.657 m°/m




(2) HWrim

a. mlayr—h

S. L _
<
~N S ——
~— T
L.
Rs; = 6.570, R, = 4.850, R, = 9.700
BT t, = 0.300, h, = 1.900
A% t=0.100
@ = T TT6TAT2 , as = 4076293288 , a4 = 493706712
rs =Rs+ to+ t = 6.570 + 0.300 + 0.100 = 6.970
r, =R, + to+ t = 4.850 + 0.300 + 0.100 = 5.250
ry =Ry + to+ t = 9.700 + 0.300 + 0.100 = 10. 100
- St - gyt e = 10: 8430205

@ = eI T 2 0 100 -
L, = r, X Cos a; = 10.100 X Cos 10. 8430205 = 9.919677

__________________________________________________________________________________________________________________________________




7 —FH

Vs = tX(rs - R ) X a3/ 360° X 2

= 7 X( 6.970° - 6.570° ) X 40.6293288 / 360° X 2 = 3.840570
Ve = X (r® - R&) X ay/ 3607 X 2

= 7 X ( 5.250% - 4.850% ) X 49.3706712 / 360° X 2 = 3.481190
Vsi = Vst + s = 3.840570 + 3.481190 = 7.321760

(ilrsal

Vs =1 X 18 X a) / 360°

= 7 X 10.100* X 10.8430205 / 360° = 9.652513
Ve =1/2 X h, X L,

=1/2 X 1.900 X 9.919677 = 9.423693

Vs = aketWim, BLor 7 U — MUBEHR vy ~ ve DOAEEF = 18.326020

Vs = Vst ¥ Usg = U3
= 9.652513 + 9.423693 — 18. 326020 = 0.750186
Vesi = Vg + Vg X 2 = 7.321760 + 0.750186 X 2 = 8.822132

8.822 m®/ m




b. £ "=hrzar7U—F

L.
S. L
1
||
0!
R 1 -
RN BT 'Q'_q
X
L, e ——
R, = 18.40000, R, = 1.000, r.= 1.773806
Lty =0.450, &%t = 0.050, «, = 16.3219030
RETHEL Y h, = 0.722773, h, = 1.033529, 60, = 42.5717826
Ax = 4.889985, Bx = 4.798984, C’ x = 5.101638
Ex = 6.087841
rs = Ry+ to + t = 18.40000 + 0.450 + 0.050 = 18. 90000
wri= 1, + t = 1.773806 + 0.050 = 1.823806

4.798984 + \/ 1.823806* — 1.033529°

F’x = Bx +\/W1”4’2*h42 =
= 6.301677
Gx = Ax +4 R& - h = 4.889985 + 4 1.000° - 0.722773’
= 5.581071
L, =F x - C’ x = 6.301677 - 5.101638 = 1.200039
L, =Gx - C’x = 5.581071 - 5.101638 = 0.479433
L, =Ex - Gx = 6.087841 — 5.581071 = 0.506770
0. = Cos' — I _ o, = Cogt 933029 019030 = 397 1585047
ST NOS Ty %P T 9% 893806 : -
, _h, L 0.722773 ) 0
9, = Cos —as = Cos ' ——=—"— _ 1673219030 = 27 3941954

R4 1. 000




U1

:<TC ><Wl'4’2>< 63’/3600_1/2X LLX h4) X 2
= (7 X 1.823806% X 39.1585047 / 360°

- 1/2 X 1.200039 X 1.033529 ) X 2 = 1.033046
v, =(xnm XRZ X 0,/30 -1/2 X Ly X hy) X 2

= (& X 1.000®> X 27.3941954 / 360°

- 1/2 X 0.479433 X 0.722773 ) X 2 =

0. 131598
U3 {1/2 XLs X ho - n X R X(0,- 60,) /360" } X 2
= {1/2 X 0.506770 X 0.722773
- 1 X 1.000* X (42.5717826 — 27.3941954 )/ 360° } X2 0.101381
4 7 X (rsf = R ) X as/ 360° X 2
= 7 X (18.90000° —18.40000% ) X 16.3219030 / 360° X2 = 5.312843
Vez = V1~ Lzt 03 T Ly
1.033046 - 0.131598 + 0.101381 + 5.312843 6. 315672

6.316 m®/ ' m




e

4)

----------------------------------------------------------------------------------------------------------------------------------

R: = 6.570, R, = 4.850, R, = 9.700, R, = 1.000
BETE t, = 0.300, h, 1.900, HUMSERPZERR ¢, = 0.000
= T.TT6T472 , s = 406293288 , a4 = 49.3706712

0, = KetWrmoE L= 27V —FXED = 2303295672
05 =3EL-TELD (0) = 42.5717826
rs =Rs+ (t,/2)= 6.570 + (0.000 / 2 ) = 6.570
r. =R+ (Ct,/2)= 480+ (0.000/ 2) = 4.850
rs =Ro+ ( t,/2)= 9.700+ (0.000 /2) = 9.700
rs =R.s+(Ct,/2)= 1.000+ (0.000 /2) = 1.000
Vo = &etWrmoBELar 27V —FLY = 6.562268
Vesi = XWrmoBETLar 27— hXLD = 8.822132
Ve = FEtWmoA o _"—Frar 7 0—rED = b5.656767

Ve = XHWEOA o _R—Fhar 27 —KED = 6.315672




<AEHE>
Wi = (272 X Rs X a3/ 360° +2x X R, X a4/ 360°
+27 X Ry X a; /360" +27 X Ry X 64/ 360° ) X 2
(27 X 6.570 X 40.6293288 / 360°
+ 271 X 4.850 X 49.3706712 / 360°
+ 271 X 9.700 X 7.7767472 / 360°
+ 27 X 1.000 X 23.3295672 / 360° ) X 2 = 21.123596

= 21.124 m?®/ m

FW = Va - (22 X 15 X a3/ 360" +27x X r; X a4/ 360°

FXFH) + 27 X ro X /360 +27x X ry X 04/360° ) X t; X 2
6.562268 - ( 2z X 6.570 X 40.6293288 / 360°

+ 27 X 4.850 X 49.3706712 / 360°

+ 27 X 9.700 X T7.7767472 / 360°

+ 27 X 1.000 X 23.3295672 / 360° ) X 0.000 X 2 = 6.562268

= 6.562 m>/ » i

%*ﬁzvcm_(ZﬂixI'5><063/3600+27'C><1'1><OL4/3600

(ZH) +2m X 1y X a1 /360" +2x X 1y X 0,/360° ) X t; X 2
8.822132 — ( 27x X 6.570 X 40.6293288 / 360°

+ 21 X 4.850 X 49.3706712 / 360°

+ 21 X 9.700 X 7.7767472 / 360°

+ 27 X 1.000 X 23.3295672 / 360" ) X 0.000 X 2 = 8.822132

8.822 m%/ » fT

<A N— k>
Wi = 27 X Ry X 05/ 360° X 2
=27 X 1.000 X 425717826 / 360° X 2 = 1.486036
= 1.486 m®’/m
FW = REHOA > R— a7 U —KZFEL = 5.657 m*/ »

(F&7t)

FEWR = W OA R —har 7 J—MIELT 6.316 m>/ »

(GHh)




Rs = 6.570, R; = 4.850, B TJE t, = 0.300

Eatnim ()t = 0.000, REFHTE(2%) ts = 0.100
s = 406293288 , a4 = 49. 3706712

rs = Rs+ to+t t; + t3

= 6.570 + 0.300 + 0.000 + 0.100 = 6.970
ri = Ri+ tot ti + ts

= 4.850 + 0.300 + 0.000 + 0.100 = 5.250

= (272 Xrs X a3/ 360° +2x Xr, X as/360° ) X 2
= (27 X 6.970 X 40.6293288 / 360°
+ 27 X 5.250 X 49.3706712 /360° ) X 2 = 18.932719

= 18.933 m*/ ' m




&
R
P11}

Ho

FEEHEFE



06-IFEEIEFEM Asx B E TR R

6-1.EREEFENEIRERNE
I 1& 7l B E BZUHE H B B =
(FFEEETFIEREY)
FYRIFED BEEHT S Y — M 121204 / 1 fEFF 21.3 &t
CIs-L(L) m° 1 21682 / 1 @& 217 Xih
s sy —f M 1 5236 / 1 67T 5.2 it
m’ 1 5332 / 1 &P 53 Xih
zE B B m’ 1 17454 / 1 &R 175
E B I #n 1 17454 / 1 f&FR 175
EmEEKT m 1 0928 / 1 f&Fk 0.9
Z]LIJ:—TEEI; BREESHT L 4 1) — m: 2 21294 / 1 %fﬁ 426 &x&t
m 2 21682 / 1 @&FT 434 X\
EEEa L 41— | m’ 2 5236 / 1 f@&FR 105 F&Et
m’ 2 5332/ 1 HFF 107 ik
zE B B m? 2 17454 / 1 R 34.9
B B I #m 2 17454 / 1 R 34.9
EmEEKT m 2 0928/ 1 f&FR 1.9
‘g;)gll_f(ﬁr)i BEEEHT L b 1 — b m: 1 21204 / 1 %fﬁ 21.3 &t
m 1 21599 / 1 H&Fr 216 Xih
s sy —f M 1 5236 / 1 f@6@F 5.2 it
m’ 1 5332 / 1 &P 53 Xih
zE B B m’ 1 17454 / 1 @R 175
B B I 1 17454 / 1 @FRF 175
EEHKT m 1 0928 / 1 f&Fk 0.9
I & 73l B #SmE BHEZUHE B = B =
(FFEEETIEREY)
EE R —F m 0 17454 / 1 @&F¢ 00
cI-L(L B Kk T @ om 2 17454 / 1 @EFR 349
Qv hy—F m’ 2 523 / 1 A 105 E&&t
m’ 2 5332/ 1 10.7 X
E I m? 2 17454 / 1 R 349
B B I 2 17454 / 1 @R 349
E@EHKI m 2 2240 / 1 R 45
Ry & " pE XK 0 10 / 1 & 0 L=3.0m
EEEED Waarsy—r m 0 17454 / 1 M@k 00
CI-L(R) B Kk T o 2 17454 / 1 @EFR 349
Qv hy—k m’ 2 523 / 1 A 105 E&&t
m’ 2 5332/ 1 A 10.7 X
E I m’ 2 17454 / 1 R 349
B B I 2 17454 / 1 @R 349
E@EHKI m 2 2240 / 1 R 45
By d & "L b K 0 10 / 1 EF% 0 L=3.0m




6-2.9 YT AR

3) CIos-L(L)

M ars)—+

a) SEHHTE

Wit s ) — FEEEHEFHRL
R | kR LEID
— \E— \\
ETausy—h SR
t =300
S ’\QQ
S
Q
©
,\//
X
. o - -~ SL
Al = CADXRHIZLS = 17454 m?
fiEE®Har o) —k (%D
Y = 17454 x 2240 x 1/2 + 17454 x 0.100 = 21294 m/ERT

ZBOV)—hGERED

<
I

17.454 x  0.300 5236 m*/EAT

E itk

>
I

CADXKFEIZ kD 17.454 /&R

BIET (EHEEY. FHRESISH=30m, #4i)

A = CADXKHIZL3 17.454 /&R




b) SZHLHTE

Wit iFa s 1 — EEEHEFTHILD
‘ :'_1“00 ST
L | B
Bravsy—t 1120
t =300 |
o —
y /e Q
y |
/ A=17.772m Q
/ | &
»
/ [ 2% &
/ 3 ﬁ)
.
{ @ - v - s
Al = CADXEIZLD = 17772 m?
MEEHaV9)—k ()
\Y = 17772 x 2240 x 1/2 + 17772 x 0.100 = 21682 m /&R
FEODY)—F ()
V. = 17772 x 0.300 = 5.332 m®/&mR
(2) EmHEkT
L = —J 2240 % + 2240 ? — 2240 = 0.928 m/HEfRT
100 300
2240
v
o " 1
|
1 2240




6-2.9 YT AR

4) COs-L(R)
(M avy)—k
a) EXEHETE
JEEETE R I
b RILHID WftFarsy—k
BRI | t =100
EEEHID LN
t =300
o SL
\"\ R m—]
Al = CADXK%EIZ&LD _ 17454 .

a7 —h(EREH

\ = 17454 x 2240 x 1/2 + 1745 x 0.100 21294 m’/EERR

ZBOV)—hGERED

<
I

17.454 x  0.300 5236 m*/EAT

E itk

>
I

CADXKFEIZ kD 17.454 /&R

BIET (EHEEY. FHRESISH=30m, #4i)

A = CADXKHIZL3 17.454 /&R




b) SZHLHTE

JEEEEEH AL

koL
EBRBL
1

witraro)—Fk
t =100
BIavsoy—+k
t =300

NSNSy

/ A
S & B ‘ S gs
| ﬂ
| 79
| I’A”
. e — . A5
T —T—
Al = CADXEIZLD = 17772
MEEHaV9)—k ()
\Y = 17772 x 2240 x 1/2 + 17772 x 0.100 = 21682 m /&R
e mDEINGZ'N)
V. = 17772 x 0.300 = 5.332 m®/&mR
(2) EmHEkT
L = 1/ 2240 % + 2240 ? — 2240 = 0.928 m/HEfRT
2240
J\ﬁ%
= _ |
o
2240 .
100 300




6-2.9 YT AR

5)D I s-L(L)

M ars)—+

2) BEHE

Eftda 2 U—Fk

t =150 E 30
BITaovoy—hk
t =300
4
(]
Al = CADXKHEIZLD

a7 —h(EREH

Y = 17454 x 2240 x 1/2 + 17.454
FEOUD)—MERED
v = 17454 x 0.300
EZR
A = CADXRHEIZL?

BIET (EHEEY. FHRESISH=30m, #4i)

A = CADXKHIZL3

Dz T
ERE D

17.454

X 0.100 21.294

m®/ B

5.236

m®/ B

17.454

17.454

m/ &

m/ &




b) XHLMTE

WAt s Y —

t =150 . JEREFER D B o 1 2T
EIarou—+t B ID
t =300

T A S
A=17.698m S \
. W 2B % \
By €
i \\7 6\) "‘.
i L0
i il < L1} SL
I I [
hem . =i
o — — — — — — 7
L] .‘i" i —— U
A=1.991m
Al = CADXEIZLD = 17698
MEEHaV9)—k ()
\Y = 17698 x 2240 x 1/2 4+ 17772 x 0.100 = 21599 m* /&R
FEODY)—F ()
V. = 17772 x 0.300 = 5.332 m*/&mR
(2) EmHEkT
L = 1/ 2240 % + 2240 ? — 2240 = 0.928 m/HEifkr
100 300
2240

% 00 100

o
(e
“G‘i
o
T

2240




@) fonN—bavy ) - EHE

1) AoR—havsy—k REHEE

Al = DI-LBF@E - 1>/ 8—kad)—GRED BEIZRIL
A2 = DI-bMFE - 1o/ \—ha9)—F(EEEH HEIZEL
A3 = MEHaI)—ETR)

A = ( Al + A2 + A3 ) x 1/2

2) Ao—kavy—k BEHGE

Al DI-LEFE - /o —hard—k G BEIZELC
A2 D I-bMifll - A/ \—hraL D) —h (X BEITRAL
A3 = REEHaH)—~(ER)

A ( A1 + A2 + A3 ) x 1/2

(4) A IN—RERIp
DI-LEFE - 4>/ \—,a9)—k (i) #E=IZRIL
b2 = fEEHaLY)—F(ER)

al

a = al + b2
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1.991
6.151
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LALSERD | LALA @D Lansam  (PERREEER e 8 x| aw Pt Ex #
AT "L
iR (HBRIR 7. 207)- 4] ERT | &R G 20 20
CI 18N/mm2LL £ 1 1 1—2
CI-b 18N/mm2LL £ 13 13 1—2
Cll-c 18N/mm2LL £
DI-c 18N/mm2LL £
DI-b 18N/mm2LL £ 1 1 1—2
DI-b-F 18N/mm2LL £
DI 18N/mm2LL £
DIla 18N/mm2LL £
DIla-F 18N/mm2LL £ 5 5 1—2

CI-LUL) 18N/mm2LL &

CI-L(R) 18N/mm2LL &

CIO-L(L) 18N/mm2LL &

CI-L(R) 18N/mm2LL E

DI-L(R) 18N/mm2LL &




otk T %R &

AT (PREs) | RHT (0s) HaEmERn L Wt )= | a7 Y —F e ER VA TL— b~ RS TEE R Ty i
BT If X5y &Rl Vil (m*) (m*) (m3) (m?) (m*) (m?) () (kg) G (kg) (kg)
SN SR || R o R smue | R s BE sk HE sk R onNv | R ok R ot | R o | BE
Ccl Mk - A, B AMm 1 3.158 3.2 0. 280 0.3] 10.450] 10.5 2 2
it 1 3.2 0.3 10.5 2
CII-b THEN - A M3 1.592] 4.8 0.127] 0.4 6.570] 19.7 6 18 87.1 261 1 3 20.5 62
J - FBAMZ: EM o 2 0.763 1.5 0.115 0.2 3.690 7.4 4 8 87.1 174 1 2 26.4 53
VT EFEEHD M1 0.961 1.0 0.203] 0.2 4.980 .0 6 6 128.5 129 2 2 50.5 51
co & M 1 0.831 0.8 0.084| 0.1 3.970 .0 4 4 87.1 87 1 1 29.5 30
Hkie - C, D A 3 3141 9.4 0.278| 0.8 10.400/ 31.2 > Y 9 27 128.5 386 2 6 42.9 129
Mk - A B M0 1 3.158] 3.2 0.280] 0.3 10.450 10.5 N “IN 9 9 128.5 129 2 20 42.9 43
FEE - WARAB | A | 2 3.784) 7.6 0.378] 0.8 12.440| 24.9 12 24 169.9 340 3 6 64.3 129
- ~ - S~
t 13 28.3 2.8 102.7 % % 96 1506 22 497
DI-b VT EF @GR |1 0.778] 0.8 0.129] 0.1 3.460 3.5 O - 6 6 73.3 73 1 1 36.6 37
H H
— yARNY yARLNLYN
Ft 1 0. 0.1 3.5 6 73 1 37
DIla-F  |#80 - ko T 3.094] 3.1] 0.318] 0.3 8.144] 8.1 9 9 110.4 110 2 2 325.3] 325 22 22
FREASE S EF T | | | | 25 25
Mkt - C, D A1 5.474| 5.5 0.694| 0.7 12.728] 12.7 10 10 144.9 145 3 3 455.8| 456 50 50
BRI - LD B0 AR 1 | | | 2% 25
ZERHE R A1 1.600 1.6 0.060] 0.1 4.240 4.2 4 4 75.9 76 93.4 93 10 10
s 5 10. 1.1 25.0 23| 331/ 5| 874/ 132
KE 20 31.5 11. 4.3 141.7 127 1,910 28 1,408




ok T & EH R
ENYAEN B
BTt X 55 Rl v (m?) (m?)
SIS | SR PNy E
CI PRGN - T AP T 0.580] 0.6 2.767] 2.8
J - FRpAe R 1 0.217| 0.2 2.461 2.5
Mkt - C, D |1 1.073 1.1 6.107 6.1
Mkt - A, B A1 1.077 1.1 6.144 6.1
s 4 3.0 17.5
CII-b THEN - A =T 0.580] 5.2 2.767| 24.9
J - FRIZ M 4 0.217| 0.9 2.461 9.8
V IR R 1 0.205| 0.2 3.282] 3.3
co & =TI 0.278/ 0.3 1.789 1.8
AV R 1 0.240| 0.2 3.282 .3
Hkte - C, D o8 1.073 8.6 6.107 48.9
Mkt - A, B A7 1.077 7.5 6.144| 43.0
JEE - HkRC O HE ] 1 1.318 1.3 7.795| 7.8
JEE - AR AB | A | 5 1.322 6.6 7.832] 39.2
it 37 30.8 182.0
DI-c RGN - 1 ko TR 0. 580 1.7 2.767] 8.3
ke - C, D o2 1073 2.1 6.107 12.2
EDAS N ¢! A1 1.322 1.3 7.832] 1.8
JEE - HAkkRC O AM |1
it 7 5.1 28.3
DI-b THEN - A ZTEE) 0. 580 1.7 2.773] 8.3
VT EF @D AL 0.149 0.1 1.677 1.7
Xk - C,D A3 1.065 3.2 6.194] 18.6
ke - A, B A1 1. 069 1.1 6.231 6.2
IHE - HkkAB HW 1 1315 1.3 7.926] 7.9
it 9 7.4 42.7




[DITa—F  [$080 - w5 P T 0.703 0.7 2.773] 2.8
WREASI B LB LTI -0.062  —0.1] 0.950 1.0

Mkt - C, D A1 1.256 1.3 6.194) 6.2

MR - ST S B0 A | 1 -0.068 -0.1 1.110 1.1

25 E S A1 0.450| 0.5 1.000 1.0

s 5 2.3 12.1

CII-L(L) |3EFE - #ifgn - km A2/ | 1 0.671 0.7 3.604] 3.6
- HHEn =2 0.241 0.5 2.010] 4.0

Mkt - C, D A1 1.073 1.1 6.107 6.1

kA2 - A, B |2 1.077 2.2 6.144| 12.3

Bt 6 4.5 26.0

CI-L(R) [#7&N - k2R M1 0. 580 0.6 2.767 2.8
JEE - WAARAB | AW | 1 1.322 1.3 7.832 7.8

JeAE - fmEn - kiDL 1. 490 1.5 8.740 8.7

Bt 3 3.4 19.3

DI-L(R) FF&E - WAkAB | Al | 1 1.315 1.3 7.926 7.9
at 1 1.3 7.9

HEt 72 57.8 335.8




1—2
HEHIXS:CT 10 |EEmEyyY
18 B 3] % E R 2 B O 5 =3 &
£ &% ERED)
FRfEET PL-200 X 22 X L kg 0 0.0
1EHI m3 3.2 3.2
W ff t=0.100 m2 10.5 105
AyR bk L=3.0m STD345 D25 PN 2 20
E7 30 D19,D16 kg 0 0.0
B m2 6.1 6.1
=V/UR 18N/mm2EL k m3 11 1.1
A9797° kg 0 0.0
1—2 5§
HEHIXS:CI-b 130 |mmayY
1A B 3] 1% E B % B O 5 = i
£ &% ERED)
FEtRTA T PL-200 X 22 X L ke 1506 1158
EHl m3 283 2.2
R A<t t=0.100 m2 102.7 7.9
Ay Ibb L=3.0m STD510 TD24 VN 96 7.4
7350 D19,D16 kg 0 0.0
B m2 58.4 45
avy)-t 18N/mm?LL L m3 9.5 0.7
29797’ ke 497 382




1—2
fEHIXS:DI-b 10 |EEmEyyY
18 B 3] % E R 2 B O 5 =3 &
£ &% ERED)
FRfEET PL-200 % 22 X L kg 73 73.0
1EHI m3 0.8 0.8
W ff t=0.150 m2 35 35
AyR bk L=4.0m STD510 TD24 PN 6 6.0
E7 30 D19,D16 kg 0 0.0
B m2 1.7 1.7
=V/UR 18N/mm2EL k m3 0.1 0.1
A9797° kg 37 37.0
1—2 5§
JEHIX 5 :DIMa-F 50 |EETY
1A B 3] 1% E B % B O 5 = i
£ &% ERED)
FEtRTA T PL-200 X 22 X L ke 331 66.2
EHl m3 10.2 20
R A<t t=0.250 m2 25.0 5.0
Ay Ibb L=4.0m STD510 TD24 VN 23 46
7350 D19,D16 kg 132 26.4
B m2 121 2.4
avy)-t 18N/mm?LL L m3 2.3 0.5
29797’ ke 874 1748
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1 Ell & I
1—1 BRE
A—A BRE
Ad Ldf Ld3
” o Llfd12 Lcd
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A2 850 780
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o f%\:‘)\ e fa |
L1 L1
Ad? Ac?
2—2 W@
T B
Ad3 Ac3 1630
o o \ 850 780
g —
S K T il
. i = o =
: : G S
1 pa J
()
2
(= [ (@)
— — ,
L2

EEMEIVEL t = 0.100

V=1( 0.850 X 1.270 + 0.780 X 0.700 + 0.480 X 0.400 ) X 0.100
= 0.182 m?®/  ft



- Wil C I-L(L) T1 | 0.300
T2 | 0.100
I B L N ZE
Adl | 0.828| Acl @ 0.554| Ail 0.365| Lil | 0.850] W1 | 0.280| H1 | 1.270| Larl
Ad2 | 0.188| Ac2 | 0.132] Ai2 0.113| Li2 @ 0.400] w2 | 0.326] H2 @ 0.480| Lar2
Ad3 | 0.436] Ac3 | 0.244 Ai3 0.127| Li3 | 0.780] W3  0.206| H3 @ 0.700| Lar3
Ldl | 1.650| Lel  1.450| Ai4 Li4 W4 | 0.268| H4 Lar4
Ld2 | 1.200| Lc2 | 1.000| Ai5 Li5 W5 | 0.185 Lar5
Ld3 | 0.780] Le3 | 0.780 W6 | 0.188
W7
Al
V= 0.828 X 1.650 + 0.188 X 1.200 + 0.436 X 0.780 = 1.932 m*/» 7T
a7 Y—h

V = 0.554 X 1.450 + 0.132 X

1.000 + 0.244 X 0.780

— (0.365 X 0.850 + 0.113 X 0.400 + 0.127 X 0.780 )

1.126 — 0.455

Witz 7Y —1F t = 0.100

A= (1.932 —1.126) / 0.100
B
A= (0.280 + 1.270 + 0.326 ) X 0.
+ (0.365 + 0.113 ) X 2
o 7R b
N= 3 + 5 = 8 K
(MiisR)  (TE%
ZL—h
W= 128.5 kg
AT T
W= 305 + 0.0 + 104 =
(H£M) (HEFAR) (JEEAR)
LS L T
W= 2

850 + ( 0.480 + 0.268

— 0.206 ) X 0.400 + ( 0.185 + 0.700 + 0.188 ) X 0.780

40.9

0.671 m®/ » Ar

8. 060 m?/ » At

3.604 m?*/ » At




FE W OE A - AN

1—1 BFE

A—A BRE
Ad1 Acl
1211179 Tt W1 Ldf Ld2

o +4 o 4 |
=] %’ |‘/f/ . %f Ail Lol Lc2
§7 4 Sk g ol sL =y
1 = L] A4 A= -
= =] P A|2 ,; /1\ =
& & Lar1 | w00 780 !
y { L
22 WiE
T 7
Ad2 Ac2 1180
g ) 5 S 5 400,780
o g sL & 1 Algsl_ T\fg e su Al
54 r?_ 4 ~f| E
— k 2
. ; &
300
L1 | I— ‘ ‘
L 12

GV EEL t = 0.100

V=1( 0.400 X 0.460 + 0.780 X 0.700 + 0.300 X 1.290 ) X 0.100
= 0.112 m*/ » T



< Wilm C I-L(L) T1 | 0.300
T2 | 0.100
. HI B L N ZE
Adl | 0.344| Acl  0.181| Ail | 0.076] Lil | 0.400| W1 | 0.170] H1 | 0.460| Larl @ 1.296
Ad2 | 0.436| Ac2 | 0.244| Ai2 | 0.130] Li2 = 0.300] W2 @ 0.165| H2 @ 1.290| Lar2
Ad3 Ac3 Ai3 | 0.127| Li3  0.780[ w3 | 0.100] H3 @ 0.700| Lar3
Ldl | 0.400] Lel @ 0.400( Ai4  0.024| Li4 W4 | 0.101| H4 Lar4
Ld2 | 1.580| Lc2 | 1.380| Ai5 Li5 W5 | 0.185 Lar5
Ld3 Lc3 W6 | 0.188
W7
Al
V = 0.344 X 0.400 + 0.436 X 1.580 = 0.826 m®/ »
a7 —h
V= 0.181 X 0.400 + 0.244 X 1.380 — ( 0.076 X 0.400

+ 0.130 X 0.300 + 0.127 X 0.780 )

= 0.409 — 0.168

0.241 m®/ » Ar

Witz 7Y —1F t = 0.100

A= (0.826 — 0.409 ) / 0.100 4. 170 m*/ %

LT
A= (0.170 + 0.460 + 0.165 ) X 0.400 + ( 1.296 + 0. 101
— 0.100 ) X 0.300 + (0.185 + 0.700 + 0.188 ) X 0.780

+ (0.130 + 0.127 — 0.024 ) X 2 2.010 m?*/» Ay

= IV N

N= 0 + 1 = 1 XK
(fH78) (FFTE%

AN

W= 0.0 kg

AT T

W= 0.0 + 0.0 + 0.0 = 0.0

(H ) GHkF450) (JEERR)




- Wil C I-L(L) T1 | 0.300
T2 | 0.100
I B L N ZE
Adl | 0.344| Acl  0.181| Ail | 0.076] Lil | 0.400] W1 | 0.170] H1 | 0.460| Larl @ 1.296
Ad2 | 0.436| Ac2 | 0.244| Ai2 | 0.130| Li2 | 0.300] W2 | 0.165| H2 | 1.290| Lar2
Ad3 Ac3 Ai3 | 0.127| Li3  0.780[ w3 | 0.100] H3 @ 0.700| Lar3
Ldl | 0.400| Lcl | 0.400] Ai4 | 0.024| Li4 W4 | 0.101| H4 Lar4
Ld2 | 1.580| Lc2 | 1.380| Ai5 Li5 W5 | 0.185 Lar5
Ld3 Lc3 W6 | 0.188
W7
Al
V = 0.344 X 0.400 + 0.436 X 1.580 0.826 m®/ » Ff
a7 —h
V= 0.181 X 0.400 + 0.244 X 1.380 — ( 0.076 X 0.400
+ 0.130 X 0.300 + 0.127 X 0.780 )
= 0.409 — 0.168 = 0.241 m¥/ » 7t
Witz 7Y —1F t = 0.100
A= (0.826 — 0.409 ) / 0.100 = 4.170 m¥ » 7t
Ll
A= (0.170 + 0.460 + 0.165 ) X 0.400 + ( 1.296 + 0.101
— 0.100 ) X 0.300 + (0.185 + 0.700 + 0.188) X 0.780
+ (0.130 + 0.127 — 0.024 ) X 2 = 2.010 m*/ »FF
vy 7RV b
N= 2 + 2 = 4 K
(fH78) (FFTE%
7L—k
W= 87.1 kg
AT TS
W= 153 + 0.0 + 5.2 = 20.5
(H#) GRETF4R) (EEAR)
Sl 5 <2 R )

W= 1
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o
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T
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B
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2 Tl 1270
T 80
ASS &ET‘
__l/L__
=
=0
{an
= lJ_QS N T2
_lﬂ_f
T1

= Lc?
Ad2 Ld2

Eil
= 850
< o
s ~—
e~ o~
o o
<« o0
| =t =t
i 400
L
MEEWELEL t = 0.100
V= ( 0.850 X 1.270 + 0.400 X 0.480 ) X 0.100
= 0.127 m¥*/ » 7T
MEEWELEEL t = 0.150
V= ( 0.850 X 1.270 + 0.400 X 0.480 ) X 0.150
= 0.191 m*/» Fr
EEWELEEL t = 0.250
V= ( 0.850 X 1.270 + 0.400 X 0.480 ) X 0.250

= 0.318 m?*/ » iy



<Wrm C 1 T1 | 0.300

T2 0.100
8 Hil BT Nz
Adl | 0.828] Acl = 0.564] Ail | 0.365] Lil | 0.850] W1 0.280] H1 1.270| Larl
Ad2 | 0.188] Ac2  0.132] Ai2 | 0.113] Li2 | 0.400] W2 0.326] H2 0.480| Lar2
Ad3 Ac3 Ai3 Li3 W3 0.206] H3 Lar3
Ldl | 1.650] Lel | 1.450] Ai4 Li4 W4 0.268| H4 Lar4
Ld2 | 1.200] Lec2 | 1.000] Aib Lib W5 Larb
Ld3 Lc3 W6
Wi
iz Hl
V= 0.828 X 1.650 + 0.188 X 1.200 = 1.592 m®/ g
ay7 Y=k

V = 0.554 X 1.450 + 0.132 X 1.000 — ( 0.365 X 0.850
+ 0.113 X 0.400 )

= 0.935 — 0.355 = 0.580 m®*/ » pf

Wtz 7V —k t = 0.100

A= (1.592 — 0.935) / 0.100 = 6.570 m*/ »

LT

A= (0.280 + 1.270 + 0.326 ) X 0.850 + ( 0.480 + 0.268

— 0.206 ) X 0.400 + (0.365 + 0.113 ) X 2 = 2.767 m*/ » Pt
oy 7Rk
N = 0 + 1 = 1 /N

(Hfi5R) (BT

ZFLr—k

W= 0.0 kg

AY T T

W= 0.0 + 0.0 + 0.0 = 0.0 kg

(H ) (kT (JEAR)




- Wil CII-b T1 | 0.300

T2 0. 100
Al T T

Adl | 0.828] Acl | 0.554] Ail | 0.365] Lil | 0.8501 W1 0.280 HI1 1. 270 Larl
Ad2 | 0.188| Ac2 | 0.132] Ai2 | 0.113] Li2 @ 0.400f W2 0.326| H2 0. 480| Lar2
Ad3 Ac3 Ai3 Li3 W3 0.206| H3 Lar3
Ld1 1.650] Lcl 1.450] Ai4 Li4 W4 0.268] H4 Lar4
Ld2 | 1.200] Lc2 | 1.000f Aib Lib W5 Larb
Ld3 Le3 W6

W7

i

V= 0.828 X 1.650 + 0.188 X 1.200 1.592 m®/  f

ay7 Y=k
V = 0.554 X 1.450 + 0.132 X 1.000 — ( 0.365 X 0.850
+ 0.113 X 0.400 )

= 0.935 — 0.355 0.580 m®*/ » pf

Rtz 7V —k t = 0.100

A= (1.592 — 0.935 ) / 0.100 6.570 m?*/ » it

LT
A= (0.280 + 1.270 + 0.326 ) X 0.850 + ( 0.480 -+ 0.268

— 0.206 ) X 0.400 + (0.365 + 0.113 ) X 2 2.767 m*/ »r ft

oy 7Rk

N= 2 + 4 = 6 XK
(fH58) (FHHT3%

ZFLr—k
W= 87.1 kg
AY T T
W= 15.3 -+ 0.0 + 5.2 = 20.5 kg

(H ) (kT (JEAR)
HiS S OR T Y0

W= 1




W@ DI-b T1 | 0.300

T2 0.150
8 Hil BT Nz
Adl | 0.981|] Acl | 0.564] Ail | 0.365] Lil | 0.850] W1 0.280] H1 1.270| Larl
Ad2 | 0.197] Ac2  0.132] Ai2 | 0.113] Li2 | 0.400] W2 0.326] H2 0.480| Lar2
Ad3 Ac3 Ai3 Li3 W3 0.206] H3 Lar3
Ldl | 1.750] Lel | 1.450] Ai4 Li4 W4 0.283] H4 Lar4
Ld2 | 1.300] Lc2 | 1.000f Aib Lib W5 Larb
Ld3 Lc3 W6
Wi
iz Hl
V= 0.981 X 1.750 + 0.197 X 1.300 = 1.973 m®/» pr
ay7 Y=k

V = 0.554 X 1.450 + 0.132 X 1.000 — ( 0.365 X 0.850
4+ 0.113 X 0.400 )

= 0.935 — 0.355 = 0.580 m®/ » pff

Wtz 7V —k t = 0.150

A= (1.973 — 0.935 ) / 0.150 = 6.920 m*/ » P

LT

A= (0.280 + 1.270 + 0.326 ) X 0.850 + ( 0.480 + 0.283

— 0.206 ) X 0.400 + (0.365 + 0.113 ) X 2 = 2.773 m*/ » Pt
oy 7Rk
N = 2 + 4 = 6 /N

(Hfi5) (BT

ZFLr—k
W= 73.3 kg
AY T T
W= 61.1 -+ 3.9 + 6.6 = T71.6 kg

(H ) GHEFAR) (JEAR)
HiS S OR T Y0

W= 1




- Wrid DIMa « DIMa-F Tl | 0.350
T2 | 0.250
Al B L N 22
Adl | 1.382| Acl | 0.587| Ail | 0.365| Lil | 0.850[ W1 0.280] H1 | 1.270| Larl
Ad2 | 0.163| Ac2 | 0.135| Ai2 | 0.113| Li2 | 0.400[ W2 | 0.326| H2 | 0.480| Lar2
Ad3 Ac3 Ai3 Li3 W3 | 0.206| H3 Lar3
Ldl | 2.050] Lel @ 1.550| Ai4 Li4 W4 | 0.283 H4 Lar4
Ld2 | 1.600] Le2  1.100| Ai5 Li5 W5 Larb
Ld3 Lc3 W6
W7
I
V= 1.382 X 2.050 + 0.163 X 1.600 = 3.094 m®/ > P

ay7 Y=k
V = 0.587 X 1.550 + 0.135 X 1.100 — ( 0.365 X 0.850
+ 0.113 X 0.400 )

= 1.058 — 0.355

Wtz 7V —hk t = 0.250

A= (3.094 — 1.058 ) / 0.250

LT
A= (0.280 + 1.270 + 0.326 ) X 0.850 + ( 0.480 -+ 0.283

— 0.206 ) X 0.400 + (0.365 + 0.113 ) X 2

oy 7Rk

N= 3 + 6 = 9 XK
(fH58) (FHT3%

7L — b

W= 110.4 kg

AT T

W= 271.9 + 26.6 + 26.8 = 325.3 kg
(HER) GREFHR) (JEAR)

S LS PR T KT

W= 2

B

W= 60.0 — 38.0 = 22 kg

0.703 m®/ » fr

8. 144 m?*/ » it

2.773 m*/ » fit




- Wrm CT-L(R) T1 0. 300

T2 0. 100
Al B L N ZE
Ad1 0.828] Acl 0.554] Ail 0.365] Lil 0. 850 W1 0.280] HI1 1.270] Larl
Ad2 0. 188] Ac2 0.132] Ai2 0.113] Li2 0. 400 W2 0.326] H2 0.480| Lar2
Ad3 Ac3 Ai3 Li3 W3 0.206] H3 Lar3
Ld1 1.650] Lecl 1.450] Ai4 Li4 W4 0.268] H4 Lar4
Ld2 1.200] Lec2 1.000] Aib Lib W5 Larb
Ld3 Le3 W6
W7
I
V= 0.828 X 1.650 + 0.188 X 1.200 = 1.592 m?®/ » A
a7 Y—Fh

V = 0.554 X 1.450 + 0.132 X 1.000 — ( 0.365 X 0.850
4+ 0.113 X 0.400 )

= 0.935 — 0.355 = 0.580 m®*/ » pf

Rtz 7V —k t = 0.100

A= (1.592 — 0.935) / 0.100 = 6.570 m*/ »

LT

A= (0.280 + 1.270 + 0.326 ) X 0.850 + ( 0.480 + 0.268

— 0.206 ) X 0.400 + (0.365 + 0.113 ) X 2 = 2.767 m*/ » Pt
oy 7Rk
N = 2 + 4 = 6 /N

(Hfi5) (BT

ZFLr—k
W= 87.1 kg
AY T T
W= 15.3 -+ 0.0 + 5.2 = 20.5 kg

(H ) (kT (JEAR)
HiS S OR T Y0

W= 1




Wi CI-c T1 | 0.300

T2 0.100
8 Hil BT Nz
Adl | 0.828] Acl | 0.564] Ail | 0.365] Lil | 0.850] W1 0.280] H1 1.270| Larl
Ad2 | 0.188] Ac2  0.132] Ai2 | 0.113] Li2 | 0.400] W2 0.326] H2 0. 480 Lar2
Ad3 Ac3 Ai3 Li3 W3 0.206] H3 Lar3
Ldl | 1.650] Lel | 1.450] Ai4 Li4 W4 0.268| H4 Lar4
Ld2 | 1.200] Lc2 | 1.000] Aib Lib W5 Larb
Ld3 Lc3 W6
Wi
iz Hl
V= 0.828 X 1.650 + 0.188 X 1.200 = 1.592 m®/r g
ay7 Y=k

V = 0.554 X 1.450 + 0.132 X 1.000 — ( 0.365 X 0.850
+ 0.113 X 0.400 )

= 0.935 — 0.355 = 0.580 m®*/ » pf

Wtz 7V —k t = 0.100

A= (1.592 — 0.935) / 0.100 = 6.570 m*/ »

LT

A= (0.280 + 1.270 + 0.326 ) X 0.850 + ( 0.480 + 0.268

— 0.206 ) X 0.400 + (0.365 + 0.113 ) X 2 = 2.767 m*/ » Pt
oy 7Rk
N = 2 + 4 = 6 /N

(Hfi5R) (BT

ZFLr—k
W= 87.1 kg
AY T T
W= 61.1 -+ 3.9 + 6. 6 = T71.6 kg

(H ) (kT (JEAR)
HiS S OR T Y0

W= 1




< Wrm DI —c T1 | 0.300

T2 0. 100
Al T T

Adl | 0.828] Acl | 0.554] Ail | 0.365] Lil | 0.850f W1 0.280 HI1 1. 270| Larl
Ad2 | 0.188| Ac2 | 0.132] Ai2 | 0.113] Li2 @ 0.400f W2 0.326| H2 0. 480| Lar2
Ad3 Ac3 Ai3 Li3 W3 0.206| H3 Lar3
Ld1 1.650] Lcl 1.450] Ai4 Li4 W4 0.268] H4 Lar4
Ld2 | 1.200] Lc2 | 1.000f Aib Lib W5 Larb
Ld3 Le3 W6

W7

i

V= 0.828 X 1.650 + 0.188 X 1.200 1.592 m®/ » f

ay7 Y=k
V = 0.554 X 1.450 + 0.132 X 1.000 — ( 0.365 X 0.850
+ 0.113 X 0.400 )

= 0.935 — 0.355 0.580 m®/ » pf

Wtz 7V —k t = 0.100

A= (1.592 — 0.935) / 0.100 6.570 m?*/ » it

LT
A= (0.280 + 1.270 + 0.326 ) X 0.850 + ( 0.480 -+ 0.268

— 0.206 ) X 0.400 + (0.365 + 0.113 ) X 2 2.767 m*/ »r ft

oy 7Rk

N= 2 + 4 = 6 XK
(fH58) (FHHT3%

ZFLr—k
W= 73.3 kg
AY T T
W= 15.3 -+ 0.0 + 5.2 = 20.5 kg

(H ) (kT (JEAR)
HiS S OR T Y0

W= 1




4. JF F oo B PH &

A—A BRE

Ldi
Adi Lol

2ln_ 6950 1l

I%}ﬂ sL F$

1700

12

=

m_JTiphI2

800

T

Hesss

1457

| I
= o 0
ks
650
200
Lar1 1
§ Act Ail %
8 SL Sk 8
= i 2 In ® “H
5 TAi3 s
Lar?2
200
i

GV EEL t = 0.100
V=1( 0.200 X 1.700 + 0.650 X 0.800 + 0.200 X 1.457 ) X 0.100
= 0.115 m*/» 77



cWrm C I T1 | 0.300

T2 | 0.100
Al B T N ZE
Adl | 0.526| Acl @ 0.315| Ail | 0.178] Lil | 0.200] W1 | 0.112 H1  0.800| Larl | 1.780
Ad2 Ac2 Ai2 | 0.173| Li2 | 0.650( W2 @ 0.101| H2 Lar2 | 1.467
Ad3 Ac3 Ai3 | 0.147| Li3 | 0.200] W3 | 0.237| H3 Lar3
Ldl | 1.450| Lel @ 1.250| Ai4 Li4 W4 | 0.214| H4 Lar4
Ld2 Lc2 Ai5 Li5 W5 | 0.100 Larb
Ld3 Lc3 W6 | 0.102

W7

i

V = 0.526 X 1.450 0.763 m®/ » fAt

a7 Y—h
V= 0.315 X 1.250 — (0.178 X 0.200 + 0.173 X 0.650
+ 0.147 X 0.200 )

= 0.394 — 0.177

0.217 m®/ » A

Witz 7Y —1k t = 0.100

A= (0.763 — 0.394) / 0.100 3.690 m*/ # FAr

LT
A= (0.237 + 0.800 + 0.214 ) X 0.650 + (0.112 + 1.780
— 0.101 ) X 0.200 + ( 1.467 + 0.102 — 0.100 ) X 0.200

+ (0.178 + 0.173 + 0.147 ) X 2 2.461 m*/ » f

=V N

N= 0 + 1 = 1 XK
(fH78) (FFTE%

AN

W= 0.0 kg

AT T

W= 0.0 + 0.0 + 0.0 = 0.0 kg

(H ) GHkEF45) (JEERR)




- W CI-b T1 | 0.300
T2 | 0.100
I = L N ZE
Adl | 0.526| Acl | 0.315| Ail | 0.178] Lil  0.200] Wi  0.112] H1 | 0.800| Larl | 1.780
Ad2 Ac2 Ai2 | 0.173| Li2 | 0.650[ W2  0.101| H2 Lar2 | 1.467
Ad3 Ac3 Ai3 | 0.147| Li3 | 0.200f W3  0.237| H3 Lar3
Ldl | 1.450| Lel  1.250| Ai4 Li4 W4 | 0.214| H4 Lar4
Ld2 Le2 Ai5 Li5 W5 | 0.100 Larb
Ld3 Lc3 W6 | 0.102
W7
Al
V= 0.526 X 1.450 = 0.763 m*/ » T
a7 —h
V=0.315 X 1.250 — ( 0.178 X 0.200 + 0.173 X 0.650
+ 0.147 X 0.200)
= 0.394 — 0.177 = 0.217 m¥/» T
Witz 7Y —1F t = 0.100
A= (0.763 — 0.394) / 0.100 = 3.690 m%* » P
FITR ¥
A= (0.237 + 0.800 + 0.214 ) X 0.650 + ( 0.112 + 1.780
—0.101) X 0.200 + ( 1.467 + 0.102 — 0.100 ) X 0.200
+ (0.178 + 0.173 + 0.147 ) X 2 = 2.461 m* 7 FT
=V N
N= 2 + 2 = 4 R
(fH78) (FFTE%
A ZE N
W= 87.1 kg
AT TS
w= 21.2 + 0.0 -+ 5.2 = 26.4 kg
(H#) GRETFR) (EEAR)
Sl 5 37 R T )l

W= 1




VT EF (BEEL)
® Al

A—AETEER

Ad1 Ld1
2 11 840 T1_12

T |2

400

==h

500

SL

860

2] T
i

Moo

If |

1t

\u\an i\ T2

147
o
(=3

Tl

860 _400

360|500

SL

860
1z/._1_ 500 400

530

1147
1147

GV EEL t = 0.100
V=( 0.100 X 0.400 + 0.840 X 0.500 + 0.630 X 0.360 + 0.150 X 1.147
) X 0.100 = 0.086 m*/» T

GV EEL t = 0.150
V=( 0.100 X 0.400 + 0.840 X 0.500 + 0.630 X 0.360 -+ 0.150 X 1.147
) X 0.150 = 0.129 m*/» 7T



- W C I -b T1 | 0.300
T2 | 0.100
I B T N zE
Adl | 0.347| Acl | 0.180| Ail | 0.040| Lil | 0.100] WL | 0.102| H1 | 0.500] Larl @ 0.404
Ad2 Ac2 Ai2 | 0.078| Li2 @ 0.840( W2  0.100| H2 Lar2 | 0. 360
Ad3 Ac3 Ai3 | 0.036| Li3  0.630[ W3  0.172| H3 Lar3 1.154
Ldl | 1.640| Lel | 1.440| Ai4 = 0.115| Li4  0.150] W4 | 0.150| H4 Lar4
Ld2 Le2 Ai5 Li5 W5 | 0.100 Larb
Ld3 Lc3 W6 | 0.100
W7 | 0.101
Al
V = 0.347 X 1.640 = 0.569 m®/ » T
a7 —h
V=0.18 X 1.440 — ( 0.040 X 0.100 + 0.078 X 0.840
+ 0.036 X 0.630 + 0.115 X 0.150 )
= 0.259 — 0.109 = 0.150 m*/ » jF
Witz 7Y —1F t = 0.100
A= (0.569 — 0.259 ) / 0.100 = 3.100 m%*/ » P
FITR ¥
A= (0.102 + 0.404 — 0.100 ) X 0.100 + ( 0.172 + 0.500
+ 0.150) X 0.840 + ( 0.360 + 0.100 — 0.100 ) X 0.630
+ (1.154 4+ 0.101 — 0.100 ) X 0.150 + ( 0.040 + 0.078
+ 0.036 + 0.115 ) X 2 = 1.669 m?*/ » ff
o 7 R b
N= 2 + 2 = 4 K
(fH78) (%)
7L—k
W= 87.1 kg
AT TS
W= 20.1 + 0.0 + 52 = 25.3 kg
(H#) GRETF4R) (EEAR)
i) 5 <7 R T

W= 1




- WD I -b T1 | 0.300
T2 | 0.150
I B L Nz
Adl | 0.447| Acl | 0.180| Ail | 0.040| Lil | 0.100] WL | 0.102| H1 | 0.500]| Larl @ 0.404
Ad2 Ac2 Ai2 | 0.078| Li2 @ 0.840( W2  0.100| H2 Lar2 | 0.360
Ad3 Ac3 Ai3 | 0.036] Li3 0.630[ W3  0.172| H3 Lar3 1.154
Ldl | 1.740| Lel | 1.440| Ai4 = 0.117| Li4  0.150] W4 | 0.150| H4 Lar4
Ld2 Le2 Ai5 Li5 W5 | 0.100 Larb
Ld3 Lc3 W6 | 0.100
W7 | 0.128
Al
V = 0.447 X 1.740 = 0.778 m*/ » T
a7 Y—h
V=0.180 X 1.440 — ( 0.040 X 0.100 + 0.078 X 0.840
+ 0.036 X 0.630 + 0.117 X 0.150 )
= 0.259 — 0.110 = 0.149 m*/ » ff
Witz 7 ) —1k t = 0.150
A= (0.778 — 0.259 ) / 0.150 = 3.460 m%*/ » P
FITR ¥
A= (0.102 + 0.404 — 0.100 ) X 0.100 + ( 0.172 + 0.500
+ 0.150) X 0.840 + ( 0.360 + 0.100 — 0.100 ) X 0.630
+ (1.154 4+ 0.128 — 0.100 ) X 0.150 + ( 0.040 + 0.078
+ 0.036 + 0.117 ) X 2 = 1.677 m¥/ » f
o 7 R b
N= 2 + 4 = 6 K
(fH78) (FFIE%)
7L—k
W= 73.3 kg
AT TS
W= 32.7 4+ 3.9 + 0.0 = 36.6 kg
(H#) GRETF4R) (EEAR)
i) 5 <7 R T

W= 1




W C I —c T1 | 0.300
T2 | 0.100
I B L N zE
Adl | 0.347| Acl | 0.180| Ail | 0.040| Lil | 0.100] WL | 0.102| H1 | 0.500] Larl @ 0.404
Ad2 Ac2 Ai2 | 0.078| Li2 @ 0.840[ W2  0.100| H2 Lar2 | 0. 360
Ad3 Ac3 Ai3 | 0.036| Li3 0.630[ W3  0.172| H3 Lar3  1.154
Ldl | 1.640| Lel | 1.440| Ai4 = 0.115| Li4  0.150] W4 | 0.150| H4 Lar4
Ld2 Le2 Ai5 Li5 W5 | 0.100 Larb
Ld3 Lc3 W6 | 0.100
W7 | 0.101
Al
V = 0.347 X 1.640 = 0.569 m®/ » T
a7 —h
V=0.180 X 1.440 — ( 0.040 X 0.100 + 0.078 X 0.840
+ 0.036 X 0.630 + 0.115 X 0.150 )
= 0.259 — 0.109 = 0.150 m*/ » fF
Witz 27—k t = 0.100
A= (0.569 — 0.259 ) / 0.100 = 3.100 m%* » P
FITR ¥
A= (0.102 + 0.404 — 0.100 ) X 0.100 + ( 0.172 + 0.500
+ 0.150) X 0.840 + ( 0.360 + 0.100 — 0.100 ) X 0.630
+ (1.154 4+ 0.101 — 0.100 ) X 0.150 + ( 0.040 + 0.078
+ 0.036 + 0.115 ) X 2 = 1.669 m?*/ »ff
o 7 R b
N= 2 + 2 = 4 R
(fH78) (FFIE%)
7L—k
W= 87.1 kg
AT TS
W= 32.7 4+ 3.9 + 0.0 = 36.6 kg
(H#) GRETF4R) (EEAR)
i) 5 <7 R T

W= 1




IR ()
# Al

Ad1

400

n_ 12

860

500
£

1147

TZ‘,TII

Acl

i

Lar1

860
121150040

Lar2l

1147

GV EEL t = 0.100
V=1( 1.970 X 1.260 - 1.570 X 0.400 -+ 0.150 X 1.147 ) X 0.100

GV EEL t = 0.150
V=1( 1.970 X 1.260 - 1.570 X 0.400 -+ 0.150 X 1.147 ) X 0.150

A—ABTER

Ld1

Lcl

4.T1

1970

11,12

00

1570

o~
=

—

]

1
1970

00

1570

300

860 400

1147

0.203 m®/ » A

0.304 m®/ » At



- W C I -b T1 | 0.300
T2 | 0.100
- HI &= L Nz
Adl | 0.347| Acl | 0.180| Ail | 0.040| Lil | 0.400] W1 | 0.102| HL | 0.500] Larl @ 0.404
Ad2 Ac2 Ai2 | 0.078] Li2 @ 1.970] W2 | 0.100| H2 Lar2 | 0. 360
Ad3 Ac3 Ai3 | 0.036| Li3 | 1.970] w3 | o0.172| H3 Lar3 1.154
Ldl | 2.770] Lel | 2.570| Ai4 | 0.115| Li4  0.150[ W4 | 0.150] H4 Lar4
Ld2 Le2 Ai5 Li5 W5 | 0.100 Larb
Ld3 Le3 W6 | 0.100
W7 | 0.101
Al
V = 0.347 X 2.770 = 0.961 m*/ » T
a7 —h

V= 10.180 X 2.570 — ( 0.040 X 0.400 + 0.078 X 1.970
+ 0.036 X 1.970 + 0.115 X 0.150 )

= 0.463 — 0.258

0.205 m®/ » Al

Witz 7Y —1F t = 0.100

A= (0.961 — 0.463 ) / 0.100 4.980 m*/ » fr

LT
A= (0.102 + 0.404 — 0.100 ) X 0.400 + (0.172 + 0.500
+ 0.150 ) X 1.970 + (0.360 + 0.100 — 0.100 ) X 1.970

+ (1.154 4+ 0.101 — 0.100 ) X 0.150 + (0.040 X 2

+ 0.078 + 0.036 + 0.115 ) X 2 = 3.282 m*» P
o 7 R b
N= 3 + 3 = 6 K

(MisR)  (FFFTER)

L=k

W= 128.5 kg

AT T

W= 40.1 + 0.0 + 10.4 = 50.5 kg

(HLH) (HkEF450) (JEERR)

LSO T O
W= 2




< WrmD I-b Tl | 0.300
T2 | 0.150

Al B T N ZE
Adl | 0.447| Acl  0.180| Ail | 0.040| Lil | 0.400] W1 | 0.102] HI | 0.500| Larl | 0.404
Ad2 Ac2 Ai2 | 0.078] Li2 | 1.970[ w2 | 0.100| H2 Lar2 | 0.360
Ad3 Ac3 Ai3 | 0.036| Li3 | 1.970] W3  0.172| H3 Lar3 | 1.154
Ldl | 2.870| Lel | 2.570| Ai4 | 0.117| Li4 | 0.150] W4 | 0.150| H4 Lar4
Ld2 Lc2 Ai5 Li5 W5 | 0.100 Larb
Ld3 Lc3 W6 | 0.100

W7 | 0.128

O

V = 0.447 X 2.870

a7 Y—h
V = 0.180 X 2.570 —
4+ 0.036 X 1.970 4+ 0.117 X 0.150 )

= 0.463 — 0.258

Witz 7 —1k t = 0.150

A= (1.283 — 0.463) / 0.150
B
A= (0.102 + 0.404 — 0.100 ) X 0.400 + (
+ 0.150 ) X 1.970 +
+ (1.154 + 0.128 — 0.100 ) X 0.150 +
+ 0.078 + 0.036 + 0.117 ) X 2
o 7 R b
N= 3 + 6 = 9 K
(7 52 (FHTR%)
ZL— L
W= 107.8 kg
AT
W= 655 + 7.9 + 0.0 = 73.4 kg
(H#R) (& FH) (EAR)
PR AR T

W= 2

(10.040 X 0.400 + 0.078 X 1.970

0.172 + 0.500

(0.040 X 2

(0.360 + 0.100 — 0.100 ) X 1.970

1.283 m*/ » Ft

0.205 m®/ » Al

5.467 m?*/ » At

3.290 m?/ » A




#®  Hl
A—AETEE
Ad1 Ldi
- ro— Lct
= i 650 117
ik |

. S—

M e
ke

T
=

1200

E T
FEH
o 650
' {n n
Lo Lo
g g SL
o (oo}
(e} (o]
™~ o™~
200
EEMEILVEL t = 0.100
V=1( 0.650 X 0.925 + 0.200 X 1.200 ) X 0.100
= 0.084 m* » T
GV EEL t = 0.150
V=1( 0.650 X 0.925 + 0.200 X 1.200 ) X 0.150

= 0.126 m®/ # ft



- W C I -b T1 | 0.300
T2 | 0.100
I B L N ZE
Adl | 0.573] Acl @ 0.347| Ail  0.202| Lil | 0.650| W1 0.250] H1 @ 0.925| Larl | 1.206
Ad2 Ac2 Ai2 | 0.121] Li2 | 0.200] W2 0.212| H2 Lar2
Ad3 Ac3 Ai3 Li3 W3 0.100| H3 Lar3
Ldl | 1.450| Lel | 1.250] Ai4 Li4 W4 0.101| H4 Lar4
Ld2 Lc2 Ai5 Li5 W5 Lar5
Ld3 Lc3 W6
W7
Al
V = 0.573 X 1.450 = 0.831 m*/» T
a7 —h
V= 0.347 X 1.250 — ( 0.202 X 0.650 + 0.121 X 0.200)
= 0.434 — 0. 156 = 0.278 m*/» P
Witz 7Y —1F t = 0.100
A= (0.831 — 0.434) / 0.100 = 3.970 m¥/ » T
iU
A= (0.250 + 0.925 + 0.212) X 0.650 + ( 1.206 -+ 0.101
— 0.100 ) X 0.200 + (0.202 + 0.121 ) X 2 = 1.789 m¥/ »ft
=V
N= 2 + = 4 K
(fH78) (F¥TR2)
A
W= 87.1 kg
AT TS
W= 24.3 + 0.0 5.2 = 29.5 kg
(H#H) GRETF4R) (EEAR)
Sl S R T

W=




W D I-b T1 | 0.300
T2 | 0.150
I B L N ZE
Adl | 0.702] Acl = 0.347| Ail  0.202| Lil | 0.650| W1 0.250] H1 @ 0.925| Larl | 1.206
Ad2 Ac2 Ai2 | 0.122] Li2 | 0.200] W2 0.212| H2 Lar2
Ad3 Ac3 Ai3 Li3 W3 0.100| H3 Lar3
Ldl | 1.550] Lel | 1.250] Ai4 Li4 Wa 0.116| H4 Lar4
Ld2 Lc2 Ai5 Li5 W5 Lar5
Ld3 Lc3 W6
W7
Al
V = 0.702 X 1.550 = 1.088 m*/» T
a7 —h
V= 0.347 X 1.250 — ( 0.202 X 0.650 + 0.122 X 0.200 )
= 0.434 — 0. 156 = 0.278 m*/» P
Witz 7 ) —1k t = 0.150
A= (1.088 — 0.434) / 0.150 = 4.360 m¥/ » T
iU
A= (0.250 + 0.925 + 0.212) X 0.650 + ( 1.206 -+ 0.116
—0.100 ) X 0.200 + (0.202 + 0.122 ) X 2 = 1.794 m¥/ » 7t
=V
N= 2 + = 6 K
(fH78) (F¥TR2)
A
W= 73.3 kg
AT TS
W= 42.8 + 3.9 0.0 = 46.7 kg
(H ) GRETF4R) (EEAR)
Sl S R T

W=




AV i

# Al

_ Ad1
5 % 210
8 Al sL
g
1
B i
W
Lari
es| . AO
= I
b= 11 A
o I'-':
= 1 ﬁj/'iﬁ .SL
—~ Al A2
o T L
S :
y  Lar? Ai3
3 _
| Lar3fi ¥ =
M —

GV EEL t = 0.100

A— AT
Ld1
Lci
4 11, 1275 11,714
T .2
| | T
| 150/ | 600 400 |
1050
EEH
1275
o] S
o
= sL
{n ~ Y/
o
S
o
8
150
1050

V= ( 0.300 X 0.800 + 1.275 X 0.700 + 1.050 X 0.700 + 0.150 X 0.700
) X 0.100

= 0. 197 m®/ » fr



- W CI-b T1 | 0.300
T2 | 0.100
I B T N zE
Adl | 0.486| Acl | 0.287| Ail | 0.081| Lil | 0.300] Wi  0.101] H1 | 0.700| Larl | 0.810
Ad2 Ac2 Ai2 | 0.149| Li2 | 1.275] W2 | 0.100| H2 Lar2 | 0.702
Ad3 Ac3 Ai3 | 0.070| Li3  1.050( W3  0.223| H3 Lar3 | 0.707
Ldl | 2.075| Lel | 1.875| Ai4 = 0.071| Li4  0.150] W4 | 0.216| H4 Lar4
Ld2 Le2 Ai5 Li5 W5 | 0.100 Larb
Ld3 Lc3 W6 | 0.101
W7 | 0.102
Al
V = 0.486 X 2.075 = 1.008 m* » T
a7 —h
V=0.287 X 1.875 — ( 0.081 X 0.300 + 0.149 X 1.275
+ 0.070 X 1.050 + 0.071 X 0.150)
= 0.538 — 0.298 = 0.240 m*/ » T
Witz 7Y —1F t = 0.100
A= (1.008 — 0.538) / 0.100 = 4.700 m%*/ » P
FITR ¥
A= (0.223 + 0.700 + 0.216 ) X 1.275 + ( 0.101 + 0.810
— 0.100) X 0.300 + ( 0.702 + 0.101 — 0.100) X 1.050
+ (0.707 + 0.102 — 0.101 ) X 0.150 + ( 0.081 + 0.149
+ 0.070 + 0.071 ) X 2 = 3.282 m¥ »
o 7 R b
N= 2 + 2 = 4 R
(fH78) (FFIE%)
7L—k
W= 87.1 kg
AT TS
w= 17.5 4+ 0.0 + 5.2 = 22.7 kg
(H#) GRETF4R) (EEAR)
i) 5 <7 R T

W= 1




9. MHINLD BT (4D

Sl - DIMa

ERERL bl

00
PR DL ES
/~@00x 300 % 100)
o
2

5000

-

a7 Y — FPER
V = 0.150 X 0.200 X 0.200

= 0.030 X 0.200 = 0.006 m®/ » AT

LT

A= (0.150 + 0.200 + 0.150 ) X 0.200 + 0.030 X 2 = 0.160 m*/



&l - DIa—F

500
o TRy YR (ATE)
/(600 600 100)
g |
S VAN
s.L
VEE#R
g
} ERESE

L&

o

)

500

D

500

%,

543

5000

005V

13250

5000

543

a7 U — MR

V = 0.150 X 0.500 X 0.500 + 0.150 X 0.400 X 0.400

= 0.075 X 0.500 + 0.060 X 0.400

LT

A=

+ 0.150 ) X 0.400 + ( 0.075 + 0.060 ) X

(0.150 + 0.500 + 0.150 ) X 0.500 + ( 0.150 + 0.400

208 vEEE

INRy H R (ALE)
(500 x 500 100)

|- 200

0. 062 m®/ » Al

0.950 m?/ » fAf



10. JEHFERS - HAKEAB

# #l 2 I
A—A W&
Ld3 Ld1 1—1 ¥FE
Lc3 Lcl
Ld?
Lc? Ad1
i 700 2200 T2 o
[N 1
N 2.1 N .D h\“:ﬁ\ = -
'7 —]
= = SL
};&_\E ,,,,, — ——r—— | \\ g §
| [— T F -
700 1800 400
N & o
g =3
[N
1 iy
1
Ad2 W3y Ac2
2—2 E@E
k] ]
' 2900 | Ad3 Ac3
700 2200 —= -
195|_Ti & :_ x|
SLo SL ’ﬁ\ - o
IR S M J g e =
= L oy
S . < =
O (=] O
— 8 —
=
1
A
450 1800 4?0 —
2 4]
GV EEL t = 0.100

V=( 2.200 X 2.090

FEEMILVEL t =
V= {( 2.200 X 2.090

0. 150

FEEMI D EL t =
V= {( 2.200 X 2.090

0. 200

- 1.800 X 1.000 + 0.700 X 0.700 + 0.450 X
) X 0.100 =

- 1.800 X 1.000 + 0.700 X 0.700 + 0.450 X
) X 0.150 =

- 1.800 X 1.000 + 0.700 X 0.700 + 0.450 X
) X 0.200 =

1. 090
0.378 m®/  ft

1. 090
0.567 m®/ » At

1. 090
0.756 m®/ » A



< Wrmm C1 T1 | 0.300
T2 | 0.100
W HI B T N zE
Adl | 0.890| Acl | 0.620] Ail | 0.391| Lil | 2.200] W1 | 0.359] HI | 1.090| Larl
Ad2 | 0.407 Ac2 | 0.377| Ai2 | 0.440| Li2 @ 0.400] W2 | 0.382] H2 | 1.000| Lar2
Ad3 | 0.894] Ac3 | 0.610] Ai3 | 0.139] Li3 | 0.700] W3 | 0.516/ H3 | 0.700| Lar3
Ldl | 3.000] Lel | 2.800| Ai4 | 0.187| Li4 | 0.450] W4 | 0.204] H4 @ 1.090| Lar4
Ld2 | 1.200] Le2 @ 1.000[ Aib Li5 W5 | 0.204 Lar5
Ld3  0.700] Lc3 | 0.700| Ai6 Li6 W6 | 0.128
W7 | 0.235
Al
V= 0.890 X 3.000 + 0.407 X 1.200 + 0.894 X 0.700 = 3.784 m*/ »
a7 —h
V= 0.620 X 2.800 -+ 0.377 X 1.000 + 0.610 X 0.700 — ( 0.391

X 2.200 + 0.440 X 0.400 + 0.139 X 0.700 + 0.187 X 0.450 )

= 2.540 — 1.218

Witz 27—k t = 0.100

A= (3.784 —
FITR ¥
A= (0.359 +
+ (1.090 + 0.235
+ 0.187 ) X 2
=R VI
N= 0 + 2
(fH78) (H¥TE%
7L—F
W= 0.0 kg
AT TS
W= 0.0 + 0.0
(H#) GRETF4R)

2.540 ) / 0.100

1.090 + 0.382 ) X 2.200 +

( 1.000 + 0.516

1.322 m*/ » Bt

= 12.440 m*/ » pr

—0.382) X 0.400 + (0.204 + 0.700 + 0.204 ) X 0.700

— 0.128) X 0.450 + ( 0.391 + 0.440

+ 0.0

(JEEAR)

0.0 kg

= 7.832 m*/ » ft




- W CI-b T1 | 0.300
T2 | 0.100
I B T Nz
Adl | 0.890| Acl | 0.620] Ail | 0.391| Lil | 2.200] W1 | 0.359] HI | 1.090| Larl
Ad2 | 0.407 Ac2 | 0.377| Ai2 | 0.440| Li2 @ 0.400] W2 | 0.382] H2 | 1.000| Lar2
Ad3 | 0.894] Ac3 | 0.610] Ai3 | 0.139] Li3 | 0.700] W3 | 0.516/ H3 | 0.700| Lar3
Ldl | 3.000] Lel | 2.800| Ai4 | 0.187| Li4 | 0.450] W4 | 0.204] H4 @ 1.090| Lar4
Ld2 | 1.200] Le2 @ 1.000[ Ai5 Li5 W5 | 0.204 Larb
Ld3  0.700] Lc3 | 0.700| Ai6 Li6 W6 | 0.128
W7 | 0.235
Al
V= 0.890 X 3.000 4+ 0.407 X 1.200 + 0.894 X 0.700 = 3.784 m*/ »
a7 —h

V= 0.620 X 2.800 -+ 0.377 X 1.000 + 0.610 X 0.700 — ( 0.391
X 2.200 + 0.440 X 0.400 + 0.139 X 0.700 + 0.187 X 0.450 )

= 2.540 — 1.218

1.322 m*/ » Bt

Witz Z7Y—k t = 0.100

A= (3.78 — 2.540 ) / 0.100 = 12.440 m?/ » T

Ll
A= (0.359 + 1.090 + 0.382) X 2.200 + ( 1.000 + 0.516
—0.382) X 0.400 + (0.204 + 0.700 + 0.204 ) X 0.700

+ (1.090 + 0.235 — 0.128 ) X 0.450 + ( 0.391 + 0.440

+ 0.187 ) X 2 = 7.832 m*#»pT
= IV N
N= 4 + 8 = 12 K

(Hi5d) (FHFTR%

=k
W= 169.9 kg
AT T
W= 48.7 + 0.0 + 15.6 = 64.3 kg

(HLH) GHkEF450) (JEEAR)

LSO T
w= 3




W D I-b T1 | 0.300
T2 | 0.150
I = L N zE
Adl | 1.041| Acl | 0.620] Ail | 0.391| Lil | 2.200] W1 | 0.359] HI | 1.090| Larl
Ad2 | 0.414| Ac2 | 0.377| Ai2 | 0.459 Li2 @ 0.400] W2 | 0.382] H2 | 1.000| Lar2
Ad3 | 1.043| Ac3 | 0.610] Ai3 | 0.139] Li3 | 0.700] W3 | 0.639| H3 | 0.700| Lar3
Ldl | 3.100] Lel | 2.800| Ai4 | 0.187| Li4 | 0.450] W4 | 0.204] H4 @ 1.090| Lar4
Ld2 | 1.300] Lec2 @ 1.000[ Aib Li5 W5 | 0.204 Larb
Ld3  0.700] Lc3 | 0.700| Ai6 Li6 W6 | 0.128
W7 | 0.250
Al
V= 1041 X 3.100 + 0.414 X 1.300 + 1.043 X 0.700 = 4.495 m?®/ »
a7 —h

V= 0.620 X 2.800 -+ 0.377 X 1.000 + 0.610 X 0.700 — ( 0.391
X 2.200 + 0.459 X 0.400 + 0.139 X 0.700 + 0.187 X 0.450 )

= 2.540 — 1.225

1.315 m*/ » Bt

Wffz 27—k t = 0.150

A= (4.495 — 2.540 ) / 0.150 = 13.033 m¥/ » T

Ll
A= (0.359 + 1.090 + 0.382) X 2.200 + ( 1.000 + 0.639
—0.382) X 0.400 + (0.204 + 0.700 + 0.204 ) X 0.700

+ (1.090 + 0.250 — 0.128 ) X 0.450 + ( 0.391 + 0.459

+ 0.187 ) X 2 = 7.926 m*/ » T
= IV N
N= 4 + 8 = 12 XK

(Hi5d) (FHFTR%

=k
W= 142.3 kg
AT T
W= 186.2 + 11.8 +  19.9 = 217.9 kg

(H ) GHkEF450) (JEEAR)

LSO T
w= 3




- Wi CI-L(R) T1 | 0.300
T2 | 0.100
I = L N ZE
Adl | 0.890| Acl  0.620 Ail | 0.391| Li1 2.200{ Wi | 0.359] H1 | 1.090| Larl
Ad2 | 0.407| Ac2 | 0.377| Ai2 | 0.440| Li2 | 0.400] W2 @ 0.382] H2 | 1.000| Lar2
Ad3 | 0.894| Ac3  0.610| Ai3 | 0.139[ Li3 | 0.700[ W3 | 0.516] H3 @ 0.700| Lar3
Ldl | 3.000] Lel @ 2.800[ Ai4 | 0.187| Li4  0.450| w4 | 0.204] H4 | 1.090| Lar4
Ld2 | 1.200] Lc2 | 1.000| Ai5 Li5 W5 | 0.204 Lar5
Ld3 | 0.700] Lec3 | 0.700[ Ai6 Li6 W6 | 0.128
W7 | 0.235
Al
V= 0.890 X 3.000 -+ 0.407 X 1.200 + 0.894 X 0.700 = 3.784 m*/ T
a7 —h

V= 0.620 X 2.800 -+ 0.377 X 1.000 + 0.610 X 0.700 — ( 0.391
X 2.200 + 0.440 X 0.400 + 0.139 X 0.700 + 0.187 X 0.450 )

= 2.540 — 1.218

1.322 m*/ » Bt

Wiz 27—k t = 0.100

A= (3.78 — 2.540 ) / 0.100 = 12.440 m?/ » T

Ll
A= (0.359 + 1.090 + 0.382) X 2.200 + ( 1.000 + 0.516
—0.382) X 0.400 + (0.204 + 0.700 + 0.204 ) X 0.700

+ (1.090 + 0.235 — 0.128 ) X 0.450 + ( 0.391 + 0.440

+ 0.187 ) X 2 = 7.832 m*~»FT
= IV N
N= 0 + 2 = 2 K

(Hi5d) (FHFTR%

=k

W= 0.0 kg

AT T

W= 0.0 + 0.0 + 0.0 = 0.0 kg

(H %) GHkEF450) (JEEAR)




- Wil CI-L(R) T1 | 0.300
T2 | 0.100
W HI B L N ZE
Adl | 0.890| Acl @ 0.620 Ail | 0.391| Li1 2.200] Wi | 0.359] H1 | 1.090| Larl
Ad2 | 0.407| Ac2 | 0.377| Ai2 | 0.440| Li2 | 0.400] W2 @ 0.382| H2 | 1.000| Lar2
Ad3 | 0.894| Ac3  0.610| Ai3 | 0.139 Li3 | 0.700[ w3 | 0.516] H3 @ 0.700| Lar3
Ldl | 3.000] Lel @ 2.800[ Ai4 | 0.187| Li4  0.450| W4 | 0.204] H4 | 1.090| Lar4
Ld2 | 1.200] Lc2 | 1.000] Ai5 Li5 W5 | 0.204 Lar5
Ld3 | 0.700] Le3 | 0.700[ Ai6 Li6 W6 | 0.128
W7 | 0.235
Al
V= 0.890 X 3.000 -+ 0.407 X 1.200 + 0.894 X 0.700 = 3.784 m*/ T
a7 —h

V= 0.620 X 2.800 -+ 0.377 X 1.000 + 0.610 X 0.700 — ( 0.391

X 2.200 + 0.440 X 0.400 + 0.139 X 0.700 + 0.187 X 0.450 )

= 2.540 — 1.218 1.322 m*/ » Bt

Wiz 27—k t = 0.100

A= (3.78 — 2.540 ) / 0.100 = 12.440 m?/ » T

Ll
A= (0.359 + 1.090 + 0.382) X 2.200 + ( 1.000 + 0.516
—0.382) X 0.400 + (0.204 + 0.700 + 0.204 ) X 0.700

+ (1.090 + 0.235 — 0.128 ) X 0.450 + ( 0.391 + 0.440

+ 0.187 ) X 2 = 7.832 m*~»FT
= IV N
N= 14 + 8 = 12 XK

(Hi5d) (FHFTR%

=k
W= 169.9 kg
AT T
W= 48.7 + 0.0 + 15.6 = 64.3 kg

(H ) GHkEF450) (JEEAR)

LSO T
w= 3




- Wrmm DI T1 | 0.300
T2 | 0.200
I B L N zE
Adl | 1.041| Acl | 0.620] Ail | 0.391| Lil | 2.200] W1 | 0.359] HI | 1.090| Larl
Ad2 | 0.414| Ac2 | 0.377| Ai2 | 0.459 Li2 @ 0.400] W2 | 0.382] H2 | 1.000| Lar2
Ad3 | 1.043| Ac3 | 0.610] Ai3 | 0.139] Li3 | 0.700] W3 | 0.639| H3 | 0.700| Lar3
Ldl | 3.100] Lel | 2.800| Ai4 | 0.187| Li4 | 0.450] W4 | 0.204] H4 @ 1.090| Lar4
Ld2 | 1.300] Lec2 @ 1.000[ Ai5 Li5 W5 | 0.204 Larb
Ld3  0.700] Lc3 | 0.700| Ai6 Li6 W6 | 0.128
W7 | 0.250
Al
V= 1041 X 3.100 + 0.414 X 1.300 + 1.043 X 0.700 = 4.495 m?®/ »
a7 —h

V= 0.620 X 2.800 -+ 0.377 X 1.000 + 0.610 X 0.700 — ( 0.391
X 2.200 + 0.459 X 0.400 + 0.139 X 0.700 + 0.187 X 0.450 )

= 2.540 — 1.225

1.315 m*/ » Bt

Wffz 27—k t = 0.200

A= (4.495 — 2.540 ) / 0.200 9.775 m?*/ » Ft
LTI
A= (0.359 + 1.090 -+ 0.382) X 2.200 + ( 1.000 + 0.639
—0.382) X 0.400 + (0.204 + 0.700 + 0.204 ) X 0.700

+ (1.090 + 0.2560 — 0.128 ) X 0.450 + ( 0.391 + 0.459

+0.187 ) X 2 = 7.926 m¥ »
=V N
N= 4 + 8 = 12 XK

(Hi5d) (FHFTRx

Al
W= 142.3 kg
AT TS
W= 248.6 + 13.7 + 23.6 = 285.9 kg
(H &) GRETFR) (JEEAR)
% B
W= 149.0 — 83.0 = 66 kg
5y PR
Sl 5 <2 R T W= 149.0 — 83.0 = 66 kg

W= 3 oy PERR




- Wi D I-L(R) T1 | 0.300
T2 | 0.150
I B T N ZE
Adl | 1.041| Acl  0.620 Ail | 0.391| Li1 2.200] Wi | 0.359] H1 | 1.090| Larl
Ad2 | 0.414] Ac2 | 0.377| Ai2 | 0.459| Li2 | 0.400] W2 @ 0.382| H2 | 1.000| Lar2
Ad3 | 1.043| Ac3  0.610| Ai3 | 0.139[ Li3 | 0.700[ W3 | 0.639] H3 @ 0.700| Lar3
Ldl | 3.100] Lel @ 2.800[ Ai4 | 0.187| Li4  0.450| w4 | 0.204] H4 | 1.090| Lar4
Ld2 | 1.300] Lc2 | 1.000] Ai5 Li5 W5 | 0.204 Lar5
Ld3 | 0.700] Le3 | 0.700[ Ai6 Li6 W6 | 0.128
W7 | 0.250
Al
V= 1.041 X 3.100 -+ 0.414 X 1.300 + 1.043 X 0.700 = 4.495 m*/» 7T
a7 —h

V= 0.620 X 2.800 -+ 0.377 X 1.000 + 0.610 X 0.700 — ( 0.391
X 2.200 + 0.459 X 0.400 + 0.139 X 0.700 + 0.187 X 0.450 )

= 2.540 — 1.225

1.315 m*/ » Bt

Wffzo 27—k t = 0.150

A= (4.495 — 2.540 ) / 0.150 = 13.033 m¥/ » T

Ll
A= (0.359 + 1.090 + 0.382) X 2.200 + ( 1.000 + 0.639
—0.382) X 0.400 + (0.204 + 0.700 + 0.204 ) X 0.700

+ (1.090 + 0.250 — 0.128 ) X 0.450 + ( 0.391 + 0.459

+ 0.187 ) X 2 = 7.926 m*/ »FT
= IV N
N= 14 + 8 = 12 XK

(Hi5d) (FHFTRR

=k
W= 142.3 kg
AT T
W= 186.2 + 11.8 +  19.9 = 217.9 kg

(H ) (k450 (JEEAR)

LSO T
w= 3




11. FEFERE - IHAkeC
w F T
A—A BrE 1—1 BrmE
Ld3 Ld1
Lc3 Lel Ad1 Ac
Ld2 :
Lc? =
4700 2180 i SR _ s
14 71 St : =
2l = i
AN =R .
700 1780 400 e S
I ]'\\]
1
Ad2 LR YY)
2—2 BrE
1 il
2880 Ad3 Ac3
700 2180 5
ANy 2 Ai3 2
S© SL e o
= g N * i 8
= _
] 2 = [
3 g 2
— 8 L
S
I
450 1780 40 —5
2 4

GV EEL t = 0.100
V=1( 2.180 X 2.090 - 1.780 X 1.000 + 0.700 X 0.700 + 0.450 X 1.090
) X 0.100 = 0.376 m*/ » T



< Wrmm C1 T1 | 0.300
T2 | 0.100
I B L Nz
Adl | 0.890| Acl | 0.620f Ai1 | 0.391] Lil @ 2.180| Wi | 0.359| H1 | 1.090| Larl
Ad2 | 0.407| Ac2  0.377| Ai2  0.440] Li2 @ 0.400| w2 | 0.382 H2 | 1.000| Lar2
Ad3 | 0.894| Ac3 | 0.610] Ai3 | 0.139] Li3 0.700| W3 | 0.516| H3 | 0.700| Lar3
Ldl  2.980| Lecl @ 2.780| Ai4 | 0.187| Li4 | 0.450| W4 | 0.204| H4  1.090| Lar4
Ld2 | 1.200] Le2 | 1.000| Ai5 Li5 W5 | 0.204 Larb
Ld3 | 0.700] Lec3 | 0.700| Ai6 Li6 W6 | 0.128
W7 | 0.235
Al
V= 0.800 X 2.980 + 0.407 X 1.200 + 0.894 X 0.700 = 3.766 m®/
a7 Y—h
V= 0.620 X 2.780 + 0.377 X 1.000 + 0.610 X 0.700 — ( 0.391

= 2.528 —

X 2.180 + 0.440 X 0.400 + 0.139 X 0.700 + 0.187 X 0.450 )

Wff= 2 U — kot

A= (3.766 —
FIT R S
A:
+ (1.090 + 0.235
+ 0.187 ) X 2
=7 VI
N= 0 + 2
(fH78) (H¥TE%
7L —F
W= 0.0 kg
AT TS
W= 0.0 + 0.0
(H#) GRETF4R)

1.210

= 0.100

2.528 ) / 0.100

(0.359 + 1.090 + 0.382) X 2.180 +

( 1.000 + 0.516

1.318 m*/ » Bt

= 12.380 m*/ » fr

—0.382) X 0.400 + (0.204 + 0.700 + 0.204 ) X 0.700

— 0.128) X 0.450 + ( 0.391 + 0.440

+ 0.0

(JEEAR)

0.0 kg

= 7.795 m?*/ 7 fit




- W CI-b T1 | 0.300
T2 | 0.100
I B L Nz
Adl | 0.890| Acl | 0.620f Ail | 0.391| Lil @ 2.180 W1 | 0.359| H1 | 1.090| Larl
Ad2 | 0.407 Ac2 @ 0.377| Ai2  0.440] Li2 @ 0.400| w2 | 0.382 H2 | 1.000| Lar2
Ad3 | 0.894| Ac3 | 0.610] Ai3 | 0.139] Li3 0.700| W3 | 0.516| H3 | 0.700| Lar3
Ldl | 2.980| Lel @ 2.780| Ai4 | 0.187| Li4 | 0.450| W4 | 0.204| H4  1.090| Lar4
Ld2 | 1.200] Le2 | 1.000| Ai5 Li5 W5 | 0.204 Lar5
Ld3 | 0.700] Lec3 | 0.700| Ai6 Li6 W6 | 0.128
W7 | 0.235
Al
V= 0.800 X 2.980 + 0.407 X 1.200 + 0.894 X 0.700 = 3.766 m®/
a7 Y—h
V= 0.620 X 2.780 + 0.377 X 1.000 + 0.610 X 0.700 — ( 0.391

= 2.528 —

X 2.180 + 0.440 X 0.400 + 0.139 X 0.700 + 0.187 X 0.450 )

Wff= 2 U — kot

A= (3.766 —
A
A=
+ (1.090 + 0.235
+ 0.187 ) X 2
=7 VI
N= 4 + 8
(Hii5R) (FHFTRR
ZL— L
W= 169.9 kg
AT T
W= 48.7 + 0.0
(F14M) (HEFAR)
LS L T 0T
W= 3

(0.359 + 1.090 + 0.382) X 2.180 +

1.210

= 0.100

2.528 ) / 0.100

( 1.000 + 0.516

1.318 m*/ » Bt

= 12.380 m*/ » Fr

—0.382) X 0.400 + (0.204 + 0.700 + 0.204 ) X 0.700

— 0.128 ) X 0.450 + ( 0.391 + 0.440

+ 15.6

(JEEAR)

64.3 kg

= 7.795 m?*/ 7 fit




12. JEWEEES - #80 - HAARRD

® o Hl E I
A—A BRE 1—1 BrE
Ld3 Ld1 Ad1 Acl
Lcd Lcl Ai
Ld2 = 1 =
LeZ .
n 3280 T1 2 [e] i o
400_7p0 __ 2180 8 39:¢§%% 2
| = A2 L
Ei: = = § ‘h; §
T T — .i. ]
| 300450 1780 400
Ad2 NN
T! T T 2—2 BrE@E
3280 v
400700 2180 Ad3 c
/o
:
o 8 - fi ,:7 b
S g o -
= = =
o B i
g
300 | 450 1780 400
EI] 4l
3—3 BrE
5
o o
— <
Ai7
[am] O
3 3

EEMIVEL t = 0.100
V=1_( 2.180 X 2.090 — 1.780 X 1.000 + 0.700 X 0.700 + 0.450 X 1.090
+ 0.400 X 0.460 + 0.300 X 1.330 ) X 0.100 = 0.434 m*/ » 7T



- Wil CI-L(R) T1 | 0.300
T2 | 0.100
I B L N ZE
Adl | 0.890| Acl | 0.620| Ail | 0.391| Lil @ 2.180[ W1 0.359] W9 | 0.171| H5 | 0.460
Ad2 | 0.407| Ac2 | 0.377| Ai2 | 0.440| Li2 @ 0.400| W2 0.382| w10 | 0.100] H6 | 1.330
Ad3 | 0.894] Ac3  0.610| Ai3 | 0.139| Li3 | 0.700| W3 0.516] Wi1 @ 0.101
Ldl | 2.980| Lel | 2.780| Ai4  0.187| Li4 @ 0.450| W4 0.204| w12 Larl | 1.336
Ld2 | 1.200] Lc2 | 1.000] Ai5 | 0.079| Li5 @ 0.400| W5 0.204] H1 @ 1.090| Lar2
Ld3 | 1.100] Le3 | 1.100| Ai6  0.134| Lie  0.300] We 0.129| H2 | 1.000| Lar3
A7 | 0.024 w7 0.235] H3 | 0.700| Lar4
W8 0.179| H4 | 1.090| Larb
# HI
V= 0.890 X 2.980 + 0.407 X 1.200 + 0.894 X 1.100 = 4.124 m*/ »7F
a7 —h
V= 0.620 X 2.780 + 0.377 X 1.000 + 0.610 X 1.100 — ( 0.391

X 2.180 + 0.440 X 0.400 + 0.139 X 0.700 + 0.187 X 0.450
+ 0.079 X 0.400 + 0.134 X 0.300 )

= 2.772 — 1.282 = 1.490 m®/ » ft

Witz 27—k t = 0.100

A= (4.124 — 2.772) / 0.100 13.520 m*/ » Ff

LI

A= (0.359 + 1.090 + 0.382 ) X 2.180 + ( 1.000 + 0.516
— 0.382) X 0.400 + (0.204 + 0.700 + 0.204 ) X 0.700

+ (1.090 + 0.235 — 0.129 ) X 0.450 + ( 0.179 —+ 0.460
+ 0.171 ) X 0.400 + (1.336 + 0.101 — 0.100) X 0.300
4+ (0.391 + 0.440 + 0.187 + 0.134 — 0.024 ) X 2 = 8.740 m*/ » B

s 7 IRV b

N= 4 + 8 = 12 K
(fi78) (FHfTR%

L —F
W= 169.9 kg
AT

W= 487 + 0.0 + 156
(H ) (T EAR)

LSO T

w= 3

64.3 kg




13. ¥ )k &2 AB

i Al
A—A BFE
Ld1
Lci Ad1
Ld2 —a
Lc2 0 kﬁ =
1 2200 11| 2 Si
o g
=
%A _____ g M$ ; i
1800 400 -
—1
Ad2
E I
]
2200
- SL -
" " g 3
vEER § §
1800 400 Ac?
il
GV EEL t = 0.100
V= ( 2.200 X 1.090 + 0.400 X 1.000 ) X 0.100
= 0.280 m®/» T
FEEWEL D EEL t = 0.150
V=1( 2.200 X 1.090 + 0.400 X 1.000 ) X 0.150

= 0.420 m®/ 7 fit



< Wrmm C1 T1 | 0.300
T2 | 0.100
. HI B L N ZE
Adl | 0.890| Acl @ 0.620| Ail | 0.391| Lil @ 2.200f W1 0.359] H1 | 1.090| Larl
Ad2 | 0.407| Ac2 | 0.377| Ai2 | 0.440| Li2 | 0.400| W2 0.382] H2 | 1.000| Lar2
Ad3 Ac3 Ai3 Li3 W3 0.516| H3 Lar3
Ldl | 3.000] Lecl | 2.800] Ai4 Li4 W4 H4 Lar4
Ld2 | 1.200| Lc2 | 1.000| Ai5 Li5 W5 Lar5
Ld3 Lc3 Ai6 Li6 W6
W7
Al
V = 0.890 X 3.000 + 0.407 X 1.200 = 3.158 m*/» T
a7 Y—h
V= 0.620 X 2.800 + 0.377 X 1.000 — ( 0.391 2.200 + 0.440
X 0.400 )
= 2.113 — 1.036 = 1077 m¥/#» T
Witz 7 —1F t = 0.100
A= (3.158 — 2.113) / 0.100 = 10.450 m?/ » T
Fil
A= (0.359 + 1.090 + 0.382 ) X 2.200 + ( 1.000 + 0.516
—0.382) X 0.400 + (0.391 + 0.440 ) X 2 = 6.144 m¥/ » 7t
=V N
N= 0 + = 2 K
(fH78) (FFTE%
A ZE N
W= 0.0 kg
AT TS
W= 0.0 + 0.0 0.0 = 0.0 kg
(H#) GRETF4R) (EEAR)




- W CI-b T1 | 0.300
T2 | 0.100
Al B T N ZE
Adl | 0.890| Acl @ 0.620| Ail | 0.391| Lil @ 2.200f W1 0.359] H1 | 1.090| Larl

Ad2 | 0.407] Ac2 | 0.377| Ai2 | 0.440( Li2 | 0.400] W2 0.382] H2 1. 000| Lar2
Ad3 Ac3 Ai3 Li3 W3 0.516] H3 Lar3
Ldl | 3.000] Lel | 2.800| Ai4 Li4 W4 H4 Lar4
Ld2 | 1.200] Le2 | 1.000f Aib Lib W5 Larb
Ld3 Lc3 Ai6 Li6 W6

W7

i

V= 0.890 X 3.000 + 0.407 X 1.200

a7 Y—h

V= 0.620 X 2.800 + 0.377 X 1.000 — ( 0.391

X 0.400 )

= 2.113 — 1.036

Witz 7Y —1F t = 0.100

A= (3.158 — 2.113) / 0.100

LT

A= (0.359 + 1.090 + 0.382 ) X 2.200 + (

—0.382) X 0.400 + (0.391 + 0.440 ) X 2

=V N

N= 3 + 6 = 9 =K
(fH78) (FFTE%

AN

W= 128.5 kg
AT T

W= 32.5 + 0.0 +  10.4 = 42.9 kg

(HL4H) GHkEF45) (JEERR)
BB LR Ty

W= 2

1.

= 3.158 m?®/ » fr

X 2.200 + 0.440

1.077 m*/ » Bt

= 10.450 m*/ » fr

000 + 0.516

6. 144 m?*/ » fr




< Wrmm DI-b T1 | 0.300
T2 | 0.150
Al B T N ZE
Adl | 1.041| Acl @ 0.620| Ail | 0.391| Lil @ 2.200f W1 0.359] H1 | 1.090| Larl
Ad2 | 0.414| Ac2 | 0.377| Ai2 | 0.459| Li2 @ 0.400[ W2 0.382| H2 | 1.000| Lar2
Ad3 Ac3 Ai3 Li3 W3 0.639| H3 Lar3
Ldl | 3.100] Lel 2.800| Ai4 Li4 W4 H4 Lar4
Ld2 | 1.300| Lc2 | 1.000| Ai5 Li5 W5 Lar5
Ld3 Lc3 Ai6 Li6 W6
W7

i

V= 1.041 X 3.100 + 0.414 X 1.300

a7 Y—h

V= 0.620 X 2.800 + 0.377 X 1.000 — ( 0.391

X 0.400 )

= 2.113 — 1.044

Witz 7 —1F t = 0.150

A= (3.7656 — 2.113) / 0.150

LT

A= (0.359 + 1.090 + 0.382 ) X 2.200 + (

—0.382) X 0.400 + (0.391 + 0.459 ) X 2

=V N

N= 4 + 6 = 10 &
(fH78) (FFTE%

AN

W= 142.3 kg

AT T

W= 1565.4 + 11.8 + 6.6 = 173.8 kg

(H %) GHkEF450) (JEERR)
BB LR Ty

W= 3

1.

= 3.765 m®/ » fr

X 2.200 + 0.459

1.069 m*/ » Bt

= 11.013 m*/ » Fr

000 + 0.639

6.231 m%/ » At




< W C T-L(L) TL | 0.300
T2 | 0.100
Al B T N %=
Adl | 0.890] Acl @ 0.620] Ail | 0.391| Lil @ 2.200f Wi 0.359| H1 | 1.090| Larl

AdZ2 | 0.407] Ac2 | 0.377| Ai2 | 0.440( Li2 | 0.400] W2 0.382] H2 1. 000| Lar2
Ad3 Ac3 Ai3 Li3 w3 0.516] H3 Lar3
Ldl | 3.000] Lel | 2.800| Ai4 Li4 W4 H4 Lar4
Ld2 | 1.200] Le2 | 1.000f Aib Li5 W5 Larb
Ld3 Lc3 Ai6 Li6 W6

W7

i

V= 0.890 X 3.000 + 0.407 X 1.200

a7 Y—h

V= 0.620 X 2.800 + 0.377 X 1.000 — ( 0.391

X 0.400 )

= 2.113 — 1.036

Witz 7Y —1F t = 0.100

A= (3.158 — 2.113) / 0.100

LT

A= (0.359 + 1.090 + 0.382 ) X 2.200 + (

—0.382) X 0.400 + (0.391 + 0.440 ) X 2

=V N

N= 0 + 2 = 2 K
(fH78) (FFTE%

AN

W= 0.0 kg

AT T

W= 0.0 + 0.0 + 0.0 = 0.0 kg

(HL4H) GHkEF450) (JEEAR)

1.

= 3.158 m?®/ » fr

X 2.200 + 0.440

1.077 m*/ » Bt

= 10.450 m*/ » fr

000 + 0.516

6. 144 m?*/ » iy




- W C M-L(L) TL | 0.300
T2 | 0.100
Al B T Nz
Adl | 0.890| Acl  0.620] Ail | 0.391| Lil @ 2.200f Wi 0.359| H1 | 1.090| Larl

Ad2 | 0.407] Ac2 | 0.377| Ai2 | 0.440( Li2 | 0.400] W2 0.382] H2 1. 000| Lar2
Ad3 Ac3 Ai3 Li3 W3 0.516] H3 Lar3
Ldl | 3.000] Lel | 2.800| Ai4 Li4 W4 H4 Lar4
Ld2 | 1.200] Lc2 | 1.000f Aib Li5 W5 Larb
Ld3 Lc3 Ai6 Li6 W6

W7

i

V= 0.890 X 3.000 + 0.407 X 1.200

a7 Y—h

V= 0.620 X 2.800 + 0.377 X 1.000 — ( 0.391

X 0.400 )

= 2.113 — 1.036

Witz 7Y —1F t = 0.100

A= (3.158 — 2.113) / 0.100

LT

A= (0.359 + 1.090 + 0.382 ) X 2.200 + (

—0.382) X 0.400 + (0.391 + 0.440 ) X 2

=V N

N= 3 + 6 = 9 XK
(fH78) (FFTE%

AN
W= 128.5 kg
AT T
W= 32.5 + 0.0 + 10.4 = 42.9 kg

(HL4H) GHkEF450) (JEERR)
BB LR Ty

W= 2

1.

= 3.158 m?®/ » fr

X 2.200 + 0.440

1.077 m*/ » Bt

= 10.450 m*/ » fy

000 + 0.516

6. 144 m?*/ » fr




14. ¥ k & CD

Ad1

SL

T

1090

A—A BrE
Ld1
Lcl
Ld?
Lc?
14 |1 2180 T
<]
. : n
I =
1780 40
il
2180 ‘
SL
P A8
=
o
S
1780 400

GV EEL t = 0.100
V=( 2.180 X 1.090 + 0.400 X 1.000

EEMEILVEL t = 0.150
V=1( 2.180 X 1.090 + 0.400 X 1.000

GV EEL t = 0.250
V=( 2.180 X 1.090 + 0.400 X 1.000

1000

Ad2

Acl
- )
2- n\m %
Ai2 [
=
b=
fﬁ'
| | 1§ [N
1
W3 Ac2
) X 0.100
= 0.278 m*/» 7T
) X 0.150
= 0.416 m*/ » FF
) X 0.250

0.694 m*/ » fr



cWrm C I T1 | 0.300
T2 | 0.100
Al B T N ZE
Adl | 0.890| Acl  0.620| Ail | 0.391| Lil | 2.180] W1 | 0.359| H1 | 1.090| Larl
Ad2 | 0.407| Ac2 | 0.377| Ai2 | 0.440| Li2 | 0.400] W2 | 0.382 H2 | 1.000| Lar2
Ad3 Ac3 Ai3 Li3 W3 0.516] H3 Lar3
Ldl | 2.980| Lel 2.780| Ai4 Li4 W4 H4 Lar4
Ld2 | 1.200| Lc2 | 1.000| Ai5 Li5 W5 Larb
Ld3 Lc3 Ai6 Li6 We
W7
O

V= 0.890 X 2.980 + 0.407 X 1.200

a7 Y—h

V= 0.620 X 2.780 + 0.377 X 1.000 —

X 0.400 )

= 2.101 — 1.028

Witz 7Y —1F t = 0.100

—0.382) X 0.400 + (0.391 + 0.440 ) X 2

A= (3.141 — 2.101 ) / 0.100
L
A=
= IV
N= 0 + = 2
(Fifi58) (FF#TRx
ZL—h
W= 0.0 kg
AT T
W= 0.0 + 0.0 0.0
(FI8H) (PkF=A2) (JEEAR)

%N

0.0 kg

(0.359 + 1.090 + 0.382 ) X 2.180 + ( 1.

000 + 0.516

(0.391 X 2.180 + 0.440

3.141 m®/ » F

1.073 m*/ » Bt

10. 400 m?*/ » Ft

6. 107 m?*/ » A




- W CI-b Tl | 0.300
T2 | 0.100
Al B T N ZE
Adl | 0.890| Acl  0.620| Ail | 0.391| Lil | 2.180] WI | 0.359| H1 | 1.090| Larl
Ad2 | 0.407| Ac2 | 0.377| Ai2 | 0.440| Li2 | 0.400] W2 | 0.382 H2 | 1.000| Lar2
Ad3 Ac3 Ai3 Li3 W3 0.516] H3 Lar3
Ldl | 2.980| Lel 2.780| Ai4 Li4 W4 H4 Lar4
Ld2 | 1.200| Lc2 | 1.000| Ai5 Li5 W5 Larb
Ld3 Lc3 Ai6 Li6 We
W7
O

V= 0.890 X 2.980 + 0.407 X 1.200

a7 Y—h

V= 0.620 X 2.780 + 0.377 X 1.000 —

X 0.400 )

= 2.101 — 1.028

Witz 7Y —1F t = 0.100

A= (3.141 — 2.101) / 0.100
L
A= (0.359 + 1.090 + 0.382 ) X 2.180 + ( 1.
— 0.382) X 0.400 + (0.391 + 0.440 ) X 2
= IV
N= 3 + = 9
(Ffi58) (FF#TRx
ZL—h
W= 128.5 kg
AT T
W= 32.5 + 0.0 10. 4
(FI8H) (PkFA) (JEEAR)
PR S LR T
W= 2

42.9 kg

000 + 0.516

(0.391 X 2.180 + 0.440

3. 141 m®/ » F

1.073 m*/ » Bt

10. 400 m?*/ » Ft

6. 107 m?*/ » A




< Wrmm DI-b Tl | 0.300
T2 | 0.150
Al B T N ZE
Adl | 1.041| Acl  0.620| Ail | 0.391| Lil | 2.180] W1 | 0.359| H1 | 1.090| Larl
Ad2 | 0.414| Ac2 | 0.377| Ai2 | 0.459| Li2 | 0.400] W2 | 0.382 H2 | 1.000| Lar2
Ad3 Ac3 Ai3 Li3 W3 0.639| H3 Lar3
Ldl | 3.080| Lel 2.780| Ai4 Li4 W4 H4 Lar4
Ld2 | 1.300| Lc2 | 1.000| Ai5 Li5 W5 Larb
Ld3 Lc3 We
W7
O

V= 1.041 X 3.080 + 0.414 X 1.300

a7 Y—h

V= 0.620 X 2.780 + 0.377 X 1.000 —

X 0.400 )

= 2.101 — 1.036

Witz 7 —1k t = 0.150

A= (3.744 — 2.101) / 0.150
B
A= (0.359 + 1.090 + 0.382) X 2.
—0.382) X 0.400 + (0.391 + 0.459 ) X 2
= IV
N= 4 + = 10
(MiisR) (TR
ZL—h
W= 142.3 kg
AT T
W= 155.4 + 11.8 6.6
(H£M) GREFHD (AR
LS LR T 0T
W= 3

180 + ( 1.

173. 8 kg

000 + 0.639

(0.391 X 2.180 + 0.459

3.744 m®/ » At

1. 065 m®/ » Bt

10. 953 m?*/ » Ft

6.194 m?*/ » A




- Wil DIMMa, DIIa-F Tl | 0.350

T2 | 0.250
W HI B L N ZE
Adl | 1.441| Acl  0.660| Ail | 0.391| Li1 | 2.180] Wi | 0.359] H1 | 1.090| Larl
Ad2 | 0.377| Ac2 | 0.356| Ai2 | 0.459| Li2 | 0.400| W2 | 0.382| H2 @ 1.000| Lar2
Ad3 Ac3 Ai3 Li3 W3 0.639] H3 Lar3
Ldl | 3.380| Lcl | 2.880| Ai4 Li4 W4 H4 Lar4
Ld2 | 1.600| Lc2 | 1.100] Ai5 Li5 W5 Larb
Ld3 Lc3 W6
W7
Al
V = 1.441 X 3.380 + 0.377 X 1.600 = 5474 m*/ 7T
a7 —h
V= 0.660 X 2.880 + 0.356 X 1.100 — ( 0.391 X 2.180 + 0.459
X 0.400 )
= 2.292 — 1.036 = 1.256 m*/»
Witz 7 ) —1F t = 0.250
A= (5.474 — 2.292) / 0.250 = 12.728 m%/ »
LIl
A= (0.359 + 1.090 + 0.382) X 2.180 + ( 1.000 + 0.639
—0.382) X 0.400 + (0.391 + 0.459 ) X 2 = 6.194 m¥» 7T
o 7RV b
N= 14 + 6 = 10 &
(fH78) (F¥TR2)
A
W= 144.9 kg
AT TS
W=389.1 + 39.9 + 26.8 = 455.8 kg
(H#H) GRETFR) (EEAR)
g%
W= 115.0 — 65.0 = 50 kg
5y S
Sl S R T

W= 3




- Wil C I-L(L) T1 | 0.300

T2 | 0.100
. HI wm L N ZE
Adl | 0.890| Acl  0.620| Ail | 0.391| Li1 | 2.180] Wi | 0.359] H1 | 1.090| Larl
Ad2 | 0.407| Ac2 | 0.377| Ai2 | 0.440| Li2 | 0.400| W2 | 0.382| H2 @ 1.000| Lar2
Ad3 Ac3 Ai3 Li3 W3 0.516] H3 Lar3
Ldl | 2.980] Lcl | 2.780] Ai4 Li4 W4 H4 Lar4
Ld2 | 1.200| Lc2 | 1.000| Ai5 Li5 W5 Larb
Ld3 Lc3 Ai6 Li6 W6
W7
Al
V= 0.890 X 2.980 + 0.407 X 1.200 = 3. 141 m*/» 7
a7 Y—h
V= 0.620 X 2.780 + 0.377 X 1.000 — ( 0.391 X 2.180 + 0.440
X 0.400 )
= 2.101 — 1.028 = 1.073 m*/»
Witz 7Y —1k t = 0.100
A= (3.141 — 2.101) / 0.100 = 10.400 m%/ » Jf
LIl
A= (0.359 + 1.090 + 0.382) X 2.180 + ( 1.000 + 0.516
—0.382) X 0.400 + (0.391 + 0.440 ) X 2 = 6.107 m¥» 7T
= IV
N= 3 + 6 = 9 K
(fH78) (FFFTE%
7'L— b
W= 128.5 kg
AT TS
W= 32.5 + 0.0 + 10.4 = 42.9 kg
(H ) GRETFAR) (EEAR)
Sl S R T

W= 2




< Wrmm DI —c T1 | 0.300
T2 | 0.100
Al B T N ZE
Adl | 0.890| Acl  0.620| Ail | 0.391| Lil | 2.180] WI | 0.359| H1 | 1.090| Larl
Ad2 | 0.407| Ac2 | 0.377| Ai2 | 0.440| Li2 | 0.400] W2 | 0.382 H2 | 1.000| Lar2
Ad3 Ac3 Ai3 Li3 W3 0.516] H3 Lar3
Ldl | 2.980| Lel 2.780| Ai4 Li4 W4 H4 Lar4
Ld2 | 1.200| Lc2 | 1.000| Ai5 Li5 W5 Larb
Ld3 Lc3 Ai6 Li6 We
W7
O

V= 0.890 X 2.980 + 0.407 X 1.200

a7 Y—h

V= 0.620 X 2.780 + 0.377 X 1.000 —

X 0.400 )

= 2.101 — 1.028

Witz 7Y —1F t = 0.100

A= (3.141 — 2.101 ) / 0.100
L
A= (0.359 + 1.090 + 0.382 ) X 2.180 + ( 1.
— 0.382) X 0.400 + (0.391 + 0.440 ) X 2
= IV
N= 3 + = 9 XK
(Fifi58) (FF#TRx
ZL—h
W= 142.3 kg
AT T
W= 48.7 + 0.0 15.6
(FI4H) (PkF=A2) (JEEAR)
PR S LR T
W= 3

64.3 kg

000 + 0.516

(0.391 X 2.180 + 0.440

3. 141 m®/ » F

1.073 m*/ » Bt

10. 400 m?*/ » Ft

6. 107 m?*/ » A




50 350, 400 350_1250

350,25
41]:
]
-

Rl
oS
W
400
gl o
VHER e
4

FEEMEVEL t = 0.
V= ( 0.400 X 0.600

250

' Al

350_|250

600

|.-350_

Ad=1. 000m2

|250|

1350,

Laso |, 600

Ac=0. 491

) X 0.250
= 0.060 m®/» fr



- Wt D IMa-F T1 | 0.350
T2 | 0.250
. HI B L N zE
Adl | 1.000| Acl | 0.491| Ail | 0.226] Lil | 0.400| W1 0.341| H1 | 0.600] Larl
Ad2 Ac2 Ai2 Li2 W2 0.430| H2 Lar2
Ad3 Ac3 Ai3 Li3 W3 H3 Lar3
Ldl | 1.600] Lel | 1.100| Ai4 Li4 W4 H4 Lar4
Ld2 Le2 Ai5 Li5 W5 Larb
Ld3 Le3 W6
W7
Al
V = 1.000 X 1.600 = 1.600 m*/ » fT
a7 —h

V= 0.491 X 1.100 — 0.226 X 0.400

= 0.540 — 0.090 = 0.450 m®/ 7 fr

Witz 7 ) —1F t = 0.250

A= (1.600 — 0.540 ) / 0.250 = 4.240 m?/ » Fr
L

A= (0.341 + 0.600 + 0.430 ) X 0.400 + 0.226 X 2 = 1. 000 m*/ » Fi
=V

N = 2 + 2 = 4 VN

(Hi5d) (FHFTR%

A

W= 75.9 kg

AT T

W= 80.0 + 0.0 + 13.4 = 93.4 kg

(H %) GHkF450) (JEERR)

B

W= 230 — 13.0 = 10 kg
15y ERES

SRR AR TG0l

W= 1




16. WBASZ S BEF 1A

Sl - DIMa

ERERD | FORILRD

=
543 3250 \ 3250 543
| 206 2.0%
2,000 J 2.000% FE _— %
704 * Lt
600
0] 3
a7 ) — MR
V = 0.150 X 0.200 X 0.200
= 0.030 X 0.200 = 0.006 m?®/ 7 fit

LT

A= (0.150 + 0.200 + 0.150 ) X 0.200 + 0.030 X 2 = 0.160 m*/



— (600 x 600 100)

%lﬁ'fﬁ” « DIIa-F

sgged | byl

TRy HR TNRYH R

Ry
(500 x 500  100)

P

HME L Y 5500

a7 U — MR
V = 0.150 X 0.500 X 0.500 + 0.150 X 0.400 X 0.400 + 0.150
X 0.200 X 0.200

= 0.075 X 0.500 + 0.060 X 0.400 + 0.030 X 0.200 = 0.068 m?®/ + ff

i
A= (0.150 + 0.500 + 0.150 ) X 0.500 + ( 0.150 + 0.400
+ 0.150 ) X 0.400 + ( 0.150 + 0.200 + 0.150 ) X 0.200

+ (0.075 + 0.060 + 0.030 ) X 2

1.110 m*/ » Ft



8-2

BE

7K



8-2-1 hRPK HEX

18 B 657} 2 B % v # = 1
2 K INED)
e El m3 55.2 0.5
BNERA S-30 m3 445 0.4
BERERJIFLUE|BIE ¢300 m 113.8 1.0
8-2-2 ik HER
PEHIXSE: CII-b 1400.5 |m=&Y
18 B 657} 2 K 7 v # = 1
2 K INED)
e El m3 672.2 0.5
BNERA S-30 m3 542.1 0.4
BERERJIFLUE|BIE ¢300 m 1383.7 1.0
8-2-3 ik HER
SRR DI -b 5094 ImHY
18 B 657} 2 K % v # = 1
2 K INED)
e El m3 2445 0.5
BRERA S-30 m3 197.2 0.4
BERER)IFLUE|BIE ¢300 m 502.8 1.0
8-2-4 hiRikK HEFXR
PEHIX S E: DI-b-F 10.0 |Im=&Y
18 B 657} 2 K % B # = &
El 1mZ4L)
izl m3 438 05
BRERA S-30 m3 39 0.4
BERER)IFLUE|BIE ¢300 m 10.0 1.0
8-2-5 ik HER
EEIR 5% DIla 28.0 |m%Y
18 B 657} E K 7 =72 214 = 1
El 1m4L)
izl m3 13.4 05
BRERA S-30 m3 10.8 0.4
BERER)IFLUE|BIE ¢300 m 274 1.0




8-2-6 HhRHEK HEXR

PEHIX 5> %: DIla—F 39.0 Im=&Y
18 B b5 H 2 K » v # = 1
& im%Y
e El m3 18.7 0.5
BNERA S-30 m3 15.1 0.4
BERERJIFLUE|BIE ¢300 m 38.4 1.0
8-2-7 kK HER
EERAE: CI-LL) 80.4 [mY
18 B b3 H 2 K » v # = 1
& im&Y
e El m3 38.6 0.5
BNERA S-30 m3 31.1 0.4
BERERJIFLUE|BIE ¢300 m 78.6 1.0
8-2-8 ik HER
PEHIXSE: DI-L(R) 26.9 Im=1Y
18 B b3 H 2 K » v # = 1
& im%Y
e El m3 12.9 0.5
BNERA S-30 m3 10.4 0.4
BERER)IFLUE|BIE ¢300 m 26.3 1.0
8-2-9 bk HER
EERSE: Cl-—c 31.2 Im&Y
18 B 657} H 2 K » =72 # = &
%S im&Y
izl m3 15.0 05
HBRERA S-30 m3 12.1 0.4
BERERJIFLUE|BIE ¢300 m 31.2 1.0
8-2-10 ik #HEXK
EIRAE: D1-c 302.1 |m%Y
18 B 657} H 2 K » =72 # = 1
%S im&Y
izl m3 145.0 05
HBRERA S-30 m3 116.9 0.4
BERERJIFLUE|BIE ¢300 m 298.5 1.0




8-2-11 HRHK HER
PEHIXSE: DI 13.0 |m=&Y
-] B b5 H 2 K » B # = fi&
2 K INED)
e El m3 6.2 0.5
BRERA S-30 m3 5.0 0.4
BERERJIFLUE|BIE ¢300 m 12.4 1.0
8-2-1-1 #EMrHEK #HER
BIX45%: CI ﬁﬂﬁil’ =
-] B b3 H 2 K » B # = fi&
2 K INED)
e El m3 26 1.3
BRERA S-30 m3 2.3 1.2
EBRL m3 0.2 0.1
BERERJIFLUE|BIE 6150 m 15.2 7.6
EBltE=—— L& ¢ 100 m 44 2.2
8-2-1-2 1EMTHEK HER
BAEAE. oIt [ os]amay
-] B b3 H 2 K » B # = fi&
2 K INED)
fiEHl m3 36.5 1.3
HBRERR S-30 m3 32.0 1.1
HRL m3 2.1 0.1
ERER)IFLUE|EALE 150 m 212.8 7.6
BlEE——ILE ¢ 100 m 61.6 2.2
8-2-1-3 #EMTHEK HER
fEEIX 7% DI-b Iiﬂ.‘z_ﬁﬁé 5L
-] B v H E K & B # = fi&
£ K D)
izl m3 14.2 1.3
HBRERA S-30 m3 125 1.1
HERL m3 0.6 0.1
ERER)IFLUE|BEALE 150 m 83.6 7.6
BlEE——ILE ¢ 100 m 24.2 2.2




8-2-1-4 1&EERHEK HER

PEHIX S E: DIla | 1|2Er8Y
18 B b5 H 2 K » B # = 1
2 K INED)
e El m3 1.3 1.3
BRERA S-30 m3 1.1 1.1
BRL m3 0.1 0.1
BERERJIFLUE|BIE 6150 m 7.6 7.6
EBltE=—— L& ¢ 100 m 24 2.4
8-2-1-5 #EMTHEK HER
{BAIK5E: DIla—F ST
18 B b3 H 2 K » B ff # = 1
2 K INED)
e El m3 1.3 1.3
BRERA S-30 m3 1.1 1.1
EBRL m3 0.1 0.1
BRERJIFLUE|BEIE 6150 m 7.6 7.6
EBlEE=—— L& ¢ 100 m 24 2.4
8-2-1-6 1&EMIHIK BER
EAIRSE CI-LL) [ slemruy
] B 657} H 2 K » =72 E214 = &
£ & ED
izl m3 5.2 1.7
BHNERA S-30 m3 45 15
HRL m3 0.2 0.1
ERER)IFLUE|EALE 0150 m 29.7 9.9
BlEE——ILE ¢ 100 m 6.6 2.2
8-2-1-7 1#MrHIK HER
EEIRSE DI-L(R) [ ilemay
-] B 657} H 2 K » =72 # = 1
£ 1K ED
izl m3 1.7 1.7
BHNERA $-30 m3 1.5 15
HERL m3 0.1 0.1
ERER)IFLUE|EALE 0150 m 9.9 9.9
BlEE=——ILE& ¢ 100 m 2.2 2.2




8-2-1-8 1&EERHEK HER

EMEAE DI o [ o]umzy
15 | 3] 1% -] # w &
2 &
HEA m3 7.8
BRERA S-30 m3 6.9
#BERL m3 0.5
BERERJIFLUE|BALE 6150 m 456
BILE—— L& ¢ 100 m 13.2
8-2-1-9 1Mk HER
EBEIR % DI Iilf Rl
15 | 6] 1% -] # H &
2 &
HEA m3 1.3
BRERA S-30 m3 1.1
#BERL m3 0.1
BERERJIFLUE|BALE ¢150 m 7.6
BIEE=—— L& ¢ 100 m 2.2
8-2-2-1 EME#HK BER
15 | 3] s B ff % = i &
£ K &
REHKT RYIRTFILF21—T $30x3 m
8-2-2-2 T WER
15 | 3] 1% B ff % = i &
£ K &
e 600 x 90071 J 7K T &R ¢ 300 X ¢ 1508 & rh k7K T 2B ¢ 300 X ¢ 150
8-2-2-3 TaA bi(T HER
17 | 3] i B ff % = i &
£ K &
VP ¢ 1008
SIHILAZaqh/ AT @ SaqUh AT ETaqU Ry

DRIZEFEND




8-2-1 K IHELEEH R

(1) kT
2 # 1B H M Al B (wgmexaym| B A B Y H = = W =
HRPKT 1Eal m° 115.000 | 4.800 m’/  10m 55.2
CI HHMERAR m* 115000 | 3.871 m’/ 10m 44.5[s-30
BEERIIFLUE| m 113.800 | 10.000 m/ 10m 113.8|H7L% 6300
itz m° 1,400.500 | 4.800 m’/ 10m 672.2
CI-b HHMERAR m* 1,400500 | 3.871 m’/ 10m 542.1|s-30
BEERIIFLUE| m 1,383.700 | 10.000 m/ 10m 1383.7| A 7% ¢ 300
itz m° 31.200 | 4.800 m‘/ 10m 15.0
Cl-c HHMERA m* 31200 | 3871 m/ 10m 12.1]s-30
BEERIIFLUE| m 31.200 [ 10.000 m/ 10m 31.2| 7% 6300
itz m* 302.050 [ 4.800 m®/  10m 145.0
DI-c HHMERAR m* 302.050 [ 3.871 m®/ 10m 116.9]s-30
BEERJIFLUE| m 298.450 | 10.000 m/ 10m 298.5|H7L% ¢ 300
itz m° 509.350 [ 4.800 m®/ 10m 2445
DI-b HHMERAR m* 509.350 [ 3.871 m®/ 10m 197.2|s-30
BEERIIFLUE| m 502.750 | 10.000 m/ 10m 502.8| & 7L% ¢ 300
itz m* 10.000 | 4.800 m®/  10m 48
DI-b-F HHMERAR m* 10.000 | 3871 m®/  10m 3.9|s-30
BEERIIFLUE| m 10.000 | 10.000 m/ 10m 10.0| 571 6300
itz m* 13.000 | 4.800 m®/  10m 6.2
DI HHWMERAR m* 13.000 | 3871 m®/  10m 5.0|s-30
BEERIIFLUE| m 12.400 | 10.000 m/ 10m 12.4|570% 6300
itz m* 28.000 | 4.800 m‘/ 10m 13.4
DIla HHWMERAR m* 28000 | 3871 m/ 10m 10.8]s-30
BEERIIFLUE| m 27.400 [ 10000 m/ 10m 27.4|H3L% $300
itz m° 39.000 | 4.800 m‘/ 10m 18.7
DIla—F HHMERAR m* 39.000 | 3871 m/ 10m 15.1]s-30
BEERIIFLUE| m 38.400 [ 10.000 m/ 10m 38.4|H7L% $300
itz m° -| 4800 m*/ 10m 0.0
CI-L(L) | BuERA m° -| 3871 m”/ 10m 0.0[s-30
BEERIIFLUE| m -] 10000 m/ 10m 0.0| 5718 ¢ 300
itz m* -| 4800 m*/ 10m 0.0
CI-L(R)| BMERA m° -| 3871 m”/ 10m 0.0[s-30
EEERJIFLUE| m -] 10000 m/ 10m 0.0|A7L% ¢300
itz m° 80400 | 4.800 m‘/ 10m 38.6
CO-L(L) | HmERE m° 80400 | 3871 m‘/ 10m 31.1]s-30
EEERIIFLUE| m 78.600 | 10.000 m/ 10m 78.6 |4 7L% ¢ 300
itz m° 53.600 | 4.800 m‘/ 10m 25.7
CO-L(R) | HmMERE m° 53.600 | 3.871 m‘/ 10m 20.7|s-30
EEERIIFLUE| m 52.400 [ 10.000 m/ 10m 524|578 ¢ 300
itz m° 26.900 | 4.800 m‘/ 10m 12.9
DI-L(R)| HHMERE m° 26900 | 3871 m‘/ 10m 10.4[s-30
EEERIIFLUE| m 26.300 [ 10.000 m/ 10m 26.3| 7L ¢ 300
HEH m® 951.7|c1.cI
A m° 300.5/p1.DI. DI
H HAERE m° 1009.8[s-30
m*/10m 3.921
BEERJIFLUE m 2575.5|HFE ¢ 300




(2) {EWTHEK T

2 #% 1\ B
B W B | B s —_
P il ] T B HYBE| BB | W
o1 HHERE 3 2: ;ﬁ 1.304 mz/ 1477 T
=g ,i%EL' m’ 24T 0[1)4712 ms/ I’T}Eﬁ 2.3|s-30
B Al 277k O75 m/ 158 02
1EitE——ILE . L 7600 m/ 15FF
24P 152|858
YR 3 = ) 2200 m/ 1457 " L8 ¢ 150
CI-b HHNERE = 28:;; 1.:1304 mz/ - L $100
BEL o 143 m’/  14FR '
= A 284 R L 32.0{s-30
BlEE=—NLE | m 28457 ' m/_15F 2128|an%
R A - - _; 2200 m/ 15F% 576 L% ¢ 150
Cl-o BEERE 3 0: ;ﬁ :.304 mz AR L8 $100
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hREEKT
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clI Wr | 115.000 m ( 113800 m )
CI-b Wr @ = 1400500 m  ( 1383.700 m )
Cl-c Wr | = 31200 m ( 31200 m )
DI-c B @\ = 302.050 m ( 298450 m )
DI-b Wr M| = 509.350 m ( 502.750 m )
DI-b-F B | = 10.000 m ( 10000 m )
DI Wr | = 13.000 m ( 12.400 m )
DIIa B | = 28.000 m ( 27400 m )
DIMa-F Wr | = 39.000 m ( 38400 m )
CI-L(L) B @\ = 0.000 m ( 0000 m )
CI-L(R) W | = 0.000 m ( 0000 m )
CIO-L(L) B | = 80.400 m ( 78.600 m )
CI-L(R) W | = 53.600 m ( 52.400 m )
DI-L(R) B E 26.900 m ( 26.300 m )
=5 2609.000 m ( 2575400 m )
cI Wr M| 24FF X 0.600 1.200 m
CI-b Wr B = 284FF x 0600 = 16.800 m
CI-c Wr ®m = O04FT x 0600 = - m
DI-c Wt Em = 64FFT X 0600 = 3600 m
DI-b r B = 114FF x 0600 = 6.600 m
DI-b-F Wr W = O0~yFt x 0600 = - m
DI Br ®m = 14FF X 0600 = 0.600 m
DIla Bt B = 14 x 0600 = 0.600 m
DIMa-F Wr B = 14FF x 0600 = 0.600 m
CI-L(L) Wr W = O0~yFr x 0600 = - m
CI-L(R) Wr ®m = O04FT x 0600 = - m
CIO-L(L) Bt Em = 34FFr x 0600 = 1800 m
CI-L(R) Wr B = 24FFr x 0600 = 1200 m
DI-L(R) Wr M 14t X 0.600 0.600 m
= 33.600 m
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CcI Wr @ 2 4R
CI-b #r | = 28 4R
Cll-c Wr m = 0 #Fhr
DI-c B M| = 6 ~FhT
DI-b B | = 11~
DI-b-F W | = 0 4P
DI B | = 1 4B
DIla W M| = 1 &/
DIMa-F B | = 1 4B
CI-L(L) 7T = 0 4P
CI-L(R) B m® = 0 ~ff
CI-L(L) 7T = 3 4Fr
CI-L(R) 7T = 2 4R
DI-L(R) B @ 1 #ff
it 56 4T
(&)
MWK (CI . CIo-be. DI -c) Wr M| 36 4T
KD I) B | = 1~
K (D) 7T = 1 »Fr
HEBTHEK (D) 7T = 2 4Pf
MEMrHEK(CI-L.CII-L.D. Bf M@ 6 4T
&t 56 4
EEEKT = (2609000 — 0600 — 0600 — 698900 ) X 2
= 1908.900 X 2
= 3817.800 m XEESEMLAREE
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(MAN—rEL

HHERAR (5-30)

.
3
| o
o
20 “
,7(;;’50
| 2 o
! =
2/ S
200 400 200
800
hRPKE (BALE)

(BEERYVIFLUE $300)

(a) fEHI

V = 1/2 x( 0800 + 0400 )x 0800 X 10.000
= 4800 m® /10m

(b) BRIERHA (S-30)

2 3871 m® /10m

V = 4800 - 7w x 0172 X 10.000
(c) BEERITIFLUE(HALE) 9300

L = 10.000 m /10m



QA4 nN—+HBY

BEMERFA (S-30)

550

800

150
250

100

600
FREKE (FILE)
BEBERYIFLUE ¢300)
(a) #iEHI
V = 0800 x 0600 x 10000
= 4800 m® /10m
(b) BRIERHA (S-30)
V = 4800 - m x 0172 % x 10.000 = 3871 m® /10m

(c) BEERVIFLUE(FHHE) 6300

L = 10.000 m /10m



2, HEEHEEOKT (10 mEHYy )

(MAN—rEL

BEMERA (S-30)

375

550

175

100 |75

100

BEHkE (FHE)
(BEERYIFLUE ¢150)

(a) fEHI

V = 1/2 x( 0450 + 0250 )x 0550 X 10.000
= 1.925 m® /10m

(b) BHIERA (S-30)
V = 1925 - gm x 0087 % x 10000 = 1.687 m® /10m

(c) BEERVIFLUE(FHE) 150

L = 10.000 m /10m



QA4 nN—+HBY

BEHERE (S-30)

375

550

175

100 |75

350

UK E (HALE)
(BEERUIFLUE 6150

(a) fEHI

V = 0350 x 0550 X 10.000
= 1.925 m® /10m

(b) BRIERHA (S-30)
V = 1925 - gm x 0087 % x 10000 = 1687 m® /10m
(c) BEERIFLUE(AILE) ¢ 150

L = 10.000 m /10m



3, tE#HEkT ( HmEZY )

(1) BrEm:CI.CO-b

CI. CO-b Krm

EBHO | bR oy 10
QL= 4850
% s. L
B S 3250 B
=
b
f |
BEHKT 1 Kz BEHAT

2
LT 777 A

Za e

A e g 2

HEHEKIB (BALE)
BILE=—ILE $100 x 1100

IR T A (BALE)
BEERYIFLUE ¢150 x 3800

fEHI- A ERA

L= ( 1863 + 1863 )= 0550

BRL

L= ( 0123 + 0123 )= 0550
(a) fEHI

V = 1925 / 10 x 6775
(b) BHERA (S-30)

V = 1687 / 10 x 6775
(c) BEREL

V = 1687 / 10 x 0447
(d) BEERJIFLUOE(HHE) ©150

L = 3800 + 3800
(e) BILE=—ILE ¢ 100

L = 1100 + 1.100

BEWHEKIB (BILE)
BIEE=—LE ¢100 x 1100

HEHEKTA (BALE)
BEERJIFLUE 150 x 3800

FRPEKT (BAE)
BEERUIFLUE ¢300

6.775 m

0.447 m

= 1.304 m® /4FR

= 1143 m® /4 Ff
= 0075 m® /# R
= 7.600

m /7T

= 2200 m /5P



(2) BrE:DI-b.DI-b-F.DI

DI-b. DI-b-F KrmE

D | R URLED op| 150
gy = 4880
_ N _ B __S. L

3250 ) 543

1470&

REHKT

BEHHKIB (BAE)
BlEE=—ILE $100 x 1100

BRI A (FAE)
BEERYUIFLUE ¢150 x 3800

KT B (BILE)
BILE=Z—LE ¢100 x 1100

BRI A (BALE)
BEERJIFLUE ¢150 x 3800

PREPKT (FAE)
BEERYIFLUE 300

fEHI- B ERE

L= ( 1848 + 1848 )+ 0550 = 6.720 m
HRL

L= ( 008 + 008 )= 0550 = 0313 m

(a) fEHI
V = 1925 / 10 X 6.720 = 1294 m® /R

(b) BRIERHA (S-30)

V. = 1687 / 10 x 6720 = 1134 m® /4R
(c) BRL
V. = 1687 / 10 x 0313 = 0.053 m® /4#Ff

(d) EEERVIFLUE(FAE) 150

L = 3800 + 3800 = 7600 m /4fR

(e) tEILE=—ILE $ 100

L = 1100 + 1.100 = 2200 m /4Fh



(3) M@ :DIMMa, DIMa-F

DIIa. DIla-F BRmE

50
EEED | RURLED 50 |2
RL= 4850
, _ _ N ~ __S. L

EEHKT

kI B (EILE)
BIEE=—ILE ¢100 x 1200

Bk A (BAE)
BEER)IFLUE ¢150 x 3800

HEHHEKIB GRALE)
BIEE=—LE ¢100 x 1200

BEHIKT A (BHE)
ERUIFLUE ¢150 x 3800

PRYPKT (FHE)

BEERUIFLUE ¢300

fEHI- B ERE

L= ( 1848 + 1848 )+ 0550 = 6.720 m
HRL

L= ( 0086 + 008 )= 0550 = 0313 m

(a) fEHI
vV = 1925 / 10 X 6.720 = 1294 m° /R

(b) BRIERHA (S-30)

V. = 1687 / 10 x 6720 = 1134 m® /4R
(c) BRL
V. = 1687 / 10 x 0313 = 0.053 m® /4#Ff

(d) EEERVIFLUE(FAE) 150

L = 3800 + 3800 = 7600 m /4fR

(e) tEILE=—ILE $ 100

L = 1200 + 1.200 = 2400 m /4Fh



(4) WiE:CI-L.CIO-L
X BAHREOGH. BE- EHEE

CI-L CO-L km

FEREEHRD L o 100
1120 - 2550
_ _ — _ _ S. L

2250 543 3250 ‘E 3250 543

2.000%

EEHKT

HUTHEk T B (EALE)
BiEE=—ILE 4100 x 1100

e “
S S v
..'..‘r.....:ﬁ.‘m

s Z
RS 77T

HEHHKTIB (EALE)
BILE=—ILE 4100 x 1100

KT A (BAE)
BEERYTIFLUE 150 x 3800

hRPKT (HHLE)
BEERIIFLUE $300

HHEHEKTA (HAE)
BEERITIFLUE 150 x 6100

fEHI- B ERE

L= ( 3060 + 1863 )= 0550 = 8951 m
HRL

L= ( 0105 + 0123 )+ 0550 = 0415 m

(a) fEHI
vV = 1925 / 10 X 8.951 = 1723 m° /R

(b) BRIERHA (S-30)

V. = 1687 / 10 x 8951 = 1510 m® /4 ff
(c) BRL
V. = 1687 / 10 x 0415 = 0070 m® /4 Ff

(d) EEERVIFLUE(FAE) 150

L = 6100 + 3.800 = 9.900 m /4#Fh

(e) tEILE=—ILE $ 100

L = 1100 + 1.100 = 2200 m /4Fh



(4) BrE:DI-L
X FEHEED-0. AHklE- EVRiEEE

LEVEL

pa

EEHKT Y
EHkIB (BAE
BILEZ—LE $100 x 1100

3.064nt
BHKTIA (BAE)

BEERYIFLUE $150 x 6100

EHYTY b
EHI- BRERA
L= ( 3064 + 1870 )+ 0550 =
BRL
L= ( 0105 + 0123 )+ 0550 =
(a) fEHI
V = 1925 / 10 x 8971
(b) BHERA (S-30)
V = 1687 / 10 x 8971
(c) BEREL
V = 1687 / 10 x 0415
(d) BEER)IFLUE(FHE) 0150
L = 6100 + 3.800
(e) BILE=—ILE ¢ 100
L = 1100 + 1.100

s e Y o 7} 1‘

e o)
-\. =
L W—

SEHKT

] BFHKIB (BAE)
1.870m EEE=—LE $100 x 1100

HEEKIA (FAE)
BEERYIFLUE ¢150 x 3800

. 777z

L
AT 7T

BEERUIFLUE 6300

8971 m

0415 m

= 1.727 m® /4 FR

= 1513 m® /#Ff

= 0.070 m® /#fR

= 9900 m /4R

= 2200 m /5P
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-1 M I HEEE

I #E| & Al oAl | B ®aA ]
avo)—k|  avPy—bt  |ock=24N/mm?] m? 60.9
HIE m? 90.3
VANE: HHE-Am " 117.4
LI A -
&t " 207.7
£ v kL T—F " 1.2
D32 ke _
D32~D29 D29 " _
Hi " —
D25 " 7,046
D22 " —
%
D25~D16 D19 " 677
D16 " 1,640
H " 9,363
D13 " 211
a8 § " 9,574
2% T ¥ #m? 199.4
- - o 1:15 m? 25.4
1%/ I o 1:1.0 m2 —
T m? 278.6
+—7 2 Hl L/ &= m?> 19.9
Hi m?> 298.5
+ I W=4.0m m3 119.4
1.0Mm=W<4.0m| m3 74.7
# R L
W=1.0m m3 2.2
Hi m?> 196.3
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10.3m
5,

V18 AL/

l L]
10.8m?
XA
BtiEm= ( 10.3 + 10.8 ) X 1.202
(1:1.5) = 254 m?

FMt = J( 15 2 4 1 2y, 15 = 1.202



